## Notice for appointment of Regular / Rural Retail Outlet Dealerships

(Hindustan Petroleum Corporation Limited proposes to appoint Retail Outlet dealers in Haryana, as per following details:

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (i (in Sq. M.).		Finance to arranged b applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
					sc	CC / DC / CFS								
					SC CC-1					Cationa to d	Cationa ta d			
					SC PH		_			Estimated working	Estimated fund			
				MS+HSD in	OBC					capital	required for	Draw of Lots /		
			Regular / Rural	Kls	OBC CC-1		Frontage	Depth	Area			Bidding		
					OBC PH OPEN					for operation of	t of infrastructur	_		
					OPEN OPEN CC-1		-			RO	e at RO			
					OPEN CC-2		-							
					OPEN PH		-							
1	IN OR BETWEEN VILLAGE SILANI PANA ZALIM AND DADANPUR ON JHAJJAR REWARI ROAD NH352 (OLD NH71) ON RHS	JHAJJAR	Regular	160	SC	CFS	50	50	2500	0	0	Draw of Lots	0	3
2	VILLAGE DUDHELA ON PRITHLA TO DHATIR ROAD	PALWAL	Regular	100	SC	CFS	40	36	1440	0	0	Draw of Lots	0	3
3	VILLAGE GHUGERA ON PALWAL TO SOHNA ROAD	PALWAL	Regular	220	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
4	SECTOR 21C, FARIDABAD WML	FARIDABAD	Regular	220	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
5	BETWEEN KM STONE 442 TO 445 ON REWARI - JHAJJAR ROAD NH-352 - RHS	REWARI	Regular	270	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
6	SECTOR 30 ON NH-8 (DELHI-JAIPUR HIGHWAY)	GURUGRAM	Regular	350	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
7	ON ST. THOMAS MARG SECTOR 43	GURUGRAM	Regular	350	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
8	BETWEEN HUDA CITY CENTER AND BHAKTWAR CHOWK ON ARYA SAMAJ MARG	GURUGRAM	Regular	300	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

9	BETWEEN MILESTONE 39-42 ON GURUGRAM ALWAR ROAD (NH-248A) NEAR VILLAGE	NUH	Regular	220	SC	CFS	45	40	1800	0	0	Draw of Lots	0	3
	SALAMBA TEHSIL NUH. WITHIN 2 KMS FROM LAKHANMAJRA CHOWK													
10	TOWARDS MAHEM ON SH16A	ROHTAK	Regular	100	SC	CFS	40	36	1440	0	0	Draw of Lots	0	3
11	ROHTAK WML 2	ROHTAK	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
12	WITHIN 2 KM FROM KANINA ON KANINA REWARI ROAD SH-24	MAHENDRAGARH	Regular	145	sc	CFS	40	36	1440	0	0	Draw of Lots	0	3
13	FEOM VILLAGE DALIAKI TO REWARI OML VIA REWARI KHANDODA ROAD, SH-15	REWARI	Regular	160	sc	CFS	40	36	1440	0	0	Draw of Lots	0	3
14	VILLAGE NAHAR TO KOSLI ON KANINA KOSLI ROAD SH-22	REWARI	Regular	200	sc	CFS	40	36	1440	0	0	Draw of Lots	0	3
15	WITHIN 3 KM FROM NANGAL SIROHI ON NARNAUL MAHENDRAGARH ROAD - NH148B	MAHENDRAGARH	Regular	150	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
16	WITHIN 3 KM FROM NANGAL CHOUDHARY ON NARNAUL MAHENDRAGARH ROAD - NH148B	MAHENDRAGARH	Regular	150	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
17	SECTR 77, GURGAON	GURUGRAM	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
18	SECTR 75A, GURGAON	GURUGRAM	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
19	SECTR 104, GURGAON	GURUGRAM	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
20	VILL TIKAMPUR, GURGAON	GURUGRAM	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
21	VILLAGE KATESHRA ON GUDHAN ROAD	ROHTAK	Rural	65	SC	CFS	40	36	1440	0	0	Draw of Lots	0	2
22	VILLAGE MADINA NOT ON NH/SH	ROHTAK	Rural	85	SC	CFS	40	36	1440	0	0	Draw of Lots	0	2
23	VILLAGE GHUSKANI	ROHTAK	Rural	65	SC	CFS	40	36	1440	0	0	Draw of Lots	0	2
24	VILLAGE SAMCHANA	ROHTAK	Rural	65	SC	CFS	40	36	1440	0	0	Draw of Lots	0	2

25	Nissing WML	KARNAL	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
26	Pinjore WML, KALKA SHIMLA ROAD	PANCHKULA	Regular	155	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
27	On New NH-152,(Kaithal- Ambala Road), between Ismailabad to Village Jansui LHS, District Ambala	AMBALA	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
28	WITHIN 5 KM FROM NARAINGARH BUS STAND ON SH-1	AMBALA	Regular	105	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
29	ARJUN NAGAR VILLAGE PATTIAFGAN ON SIWAN ROAD KAITHAL WML	KAITHAL	Regular	125	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
30	Kharkhoda Town (WML) Not on SH or NH	Sonipat	Regular	200	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
31	Akbarpur Barota, Tehsil Sonipat	Sonipat	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
32	Sector - 25, Panipat	Panipat	Regular	200	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
33	On Refinary Road (From NH-1 to IOCL Refinary)	Panipat	Regular	210	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
34	Village ladwa on ladwa to Yamunanagar Road(LHS TOWARDS YN)	Kurukshetra	Regular	230	sc	CFS	40	36	1440	0	0	Draw of Lots	0	3
35	Kamani Chowk to Railway Workshop ,Yamunanagar WML	Yamunanagar	Regular	150	sc	CFS	20	26	520	0	0	Draw of Lots	0	3
36	Village Nallvi on Shahabad Thol Road (SH 7)	KURUKSHETRA	Regular	125	sc	CFS	40	36	1440	0	0	Draw of Lots	0	3
37	On Khanoda -Teek Road	KAITHAL	Rural	100	sc	CFS	40	36	1440	0	0	Draw of Lots	0	2
38	Village Umedgarh, on Ghasauli Umedgarh Road	Sonipat	Rural	140	sc	CFS	40	36	1440	0	0	Draw of Lots	0	2
39	NARWANA WML, NOT ON NH	JIND	REGULAR	100	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
40	BETWEEN KM STONE 124 TO KM STONE 128 ON FATEHABAD NEW BYPASS ON NH 9, LHS OF HISAR TO SIRSA ROAD	FATEHABAD	REGULAR	150	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3

			-											
41	IN OR AROUND VILL- GATOULI BETWEEN KM STONE 50 TO KM STONE 53 ON JIND- ROHTAK ROAD, LHS ON NH 352	JIND	REGULAR	150	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
42	VILL MANDOLI ON DADRI MAHENDRAGARH ROAD, NH 148B	CHARKHI DADRI	REGULAR	120	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
43	IN/ WITHIN 2 KMS OF VILLAGE JATU LUHARI ON BHIWANI HANSI RD NH709A	BHIWANI	REGULAR	130	sc	CFS	40	45	1800	0	0	Draw of Lots	0	3
44	WITHIN KM STONE 29 TO 32 ON RHS WITHIN BHIWANI DISTT ON MUNDHAL KHURD JIND RD NH709A	BHIWANI	REGULAR	130	sc	CFS	40	45	1800	0	0	Draw of Lots	0	3
45	VILLAGE THILOR ON SH12, TOSHAM ISSHERWAL ROAD	BHIWANI	REGULAR	135	SC	CFS	40	40	1600	0	0	Draw of Lots	0	3
46	ON NH-9 LHS ON MANDI DABWALI TO SIRSA ROAD , WITH IN KM STONE 72-77	SIRSA	REGULAR	95	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
47	ON NH-9 LHS ON MANDI DABWALI TO DELHI ROAD , WITH IN KM STONE 99-104	SIRSA	REGULAR	95	sc	CFS	40	45	1800	0	0	Draw of Lots	0	3
48	VILL DANGRA ON TOHANA DHANGRA ROAD	FATEHABAD	RURAL	80	sc	CFS	40	36	1440	0	0	Draw of Lots	0	2
49	VILLAGE GANGA - GORIWALA TO SANGARIA ROAD	SIRSA	RURAL	90	SC	CFS	40	36	1440	0	0	Draw of Lots	0	2
50	81 KM TO 83 KM STONE ON DELHI JAIPUR ROAD NH-48 (OLD NH-8) LHS	REWARI	Regular	475	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
51	SECTOR 106 ON SECTOR ROAD DIVIDING SECTOR 106 & SEC 109	GURUGRAM	Regular	230	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
52	SECTOR 3, DHARUHERA WML EXCLUDING NH 71 B	REWARI	Regular	130	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
53	VILL. BIKANER TO GANGAYCHA JAT TOLL ON NH- 71 (NEW NH-352)	REWARI	Regular	340	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
54	RAJASTHAN BORDER TO 105 KM STONE ON DELHI JAIPUR ROAD NH-48 (OLD NH-8) RHS	REWARI	Regular	425	OPEN	сс	40	45	1800	25	10	Bidding	30	5
55	VILLAGE BHANGROLA , ON ROAD CONNECTING PATAUDI ROAD TO IMT MANESAR, LHS, 1 KM FROM PATAUDI ROAD	GURUGRAM	Regular	170	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
56	VILAGE RANSIKA, ON PATAUDI REWARI ROAD, FROM PATAUDI TO REWARI RHS, 4 KM FROM PATAUDI	GURUGRAM	Regular	170	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3

57	BETWEEN 104 KM TO 105 KM STONE ON DELHI JAIPUR ROAD NH-48 (OLD NH-8) LHS	REWARI	Regular	430	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
58	BETWEEN 102 KM TO 103 KM STONE ON DELHI JAIPUR ROAD NH-48 (OLD NH-8) LHS	REWARI	Regular	350	OPEN	сс	40	45	1800	25	10	Bidding	30	5
59	BETWEEN KM STONE. 67 & 69, ON NH-8, (NEW NH-48) TOWARDS DELHI, LHS	REWARI	Regular	280	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
60	WITHIN REWARI CITY FROM MAHARANA PRATAP CHOWNK TO RAJIV CHOWNK ON LHS	REWARI	Regular	220	OPEN	СС	20	20	400	25	10	Bidding	30	5
61	BETWEEN KM STONE. 62 TO 67, ON NH-8 (NEW NH-48) (DELHI-JAIPUR HIGHWAY), RHS.	GURUGRAM	Regular	230	sc	CFS	40	45	1800	0	0	Draw of Lots	0	3
62	SECTOR 88, VILLAGE HAYATPUR OPPOSITE SECTOR 84	GURUGRAM	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
63	VILLAGE DHORKA, SECTOR 92, ON ROAD DIVIDING SECTOR 92-95	GURUGRAM	Regular	180	OPEN CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
64	VILLAGE GURAORA ON REWARI JHAJJAR ROAD NEW NH-352 (OLD NH-71) LHS	REWARI	Regular	260	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
65	BETWEEN KM STONE 81 AND 83 ON LHS FROM DELHI TO MATHURA ON NH19 (OLD NH2) DELHI MATHURA ROAD	PALWAL	Regular	310	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
66	ON HERO HONDA ROAD FROM HERO HONDA CHOWK TO KADIPUR CHOWK	GURUGRAM	Regular	230	OPEN CC 2	DC	20	20	400	25	60	Draw of Lots	15	5
67	VILLAGE BADHA SECTOR 89	GURUGRAM	Regular	170	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
68	BETWEEN 105 KM STONE TO RAJASTHAN BORDER ON DELHI JAIPUR ROAD NH-48 (OLD NH- 8) LHS	REWARI	Regular	415	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
69	BILASPUR-PATAUDI ROAD, WITHIN PATAUDI WML	GURUGRAM	Regular	150	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
70	BETWEEN MILESTONE 31-33 DELHI ALWAR ROAD (NH-248 A)	NUH	Regular	240	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
71	BETWEEN 98 KM TO 100 KM STONE ON DELHI JAIPUR ROAD NH-48 (OLD NH-8) RHS	REWARI	Regular	425	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
72	BAHADURGARH WML ON BADLI ROAD	JHAJJAR	Regular	170	OBC	DC	30	30	900	25	45	Draw of Lots	15	4

73	SECTOR 82 ON DIVIDING ROAD SECTOR 81 & 82	GURUGRAM	Regular	150	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
74	ON SOHNA ROAD BETWEEN BADHASPUR TO BHONDSI (RHS)	GURUGRAM	Regular	260	SC CC 1	CFS	40	45	1800	0	0	Draw of Lots	0	3
75	BETWEEN 83 KM TO 86 KM STONE ON DELHI JAIPUR ROAD NH-48 (OLD NH-8) LHS	REWARI	Regular	435	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
76	BETWEEN 86 KM TO 88 KM STONE ON DELHI JAIPUR ROAD NH-48 (OLD NH-8) LHS	REWARI	Regular	480	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
77	SECTOR 89 VILLAGE HAYATPUR OPPOSITE SECTOR 93	GURUGRAM	Regular	180	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
78	ON VIKAS MARG CONNECTING SOHNA ROAD AND KANAHI VILLAGE	GURUGRAM	Regular	300	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
79	ON REWARI BYPASS ROAD, REWARI CITY	REWARI	Regular	245	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
80	BETWEEN 103 KM TO 104 KM STONE ON DELHI JAIPUR ROAD NH-48 (OLD NH-8) LHS	REWARI	Regular	365	OPEN	сс	40	45	1800	25	10	Bidding	30	5
81	SECTOR 66 ,ON 60 METER WIDE HUDA SECTOR ROAD DIVIDING SEC 67 - SEC 66 (MADIAWAS -KADARPURLINK ROAD )	GURUGRAM	Regular	225	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
82	BETWEEN 100 KM TO 101 KM STONE ON DELHI JAIPUR ROAD NH-48 (OLD NH-8) LHS	REWARI	Regular	365	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
83	VILLAGE GHASERA ON GURUGRAM ALWAR ROAD NH248 A	NUH	Regular	225	sc	CFS	40	45	1800	0	0	Draw of Lots	0	3
84	BETWEEN 101 KM TO 102 KM STONE ON DELHLI JAIPUR ROAD NH-48 (OLD NH-8) LHS	REWARI	Regular	275	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
85	WITHIN 5 KM FROM SOHNA CHOWK TOWARDS PALWAL NH -919	GURUGRAM	Regular	250	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
86	BETWEEN MADINA KORSAN TOLL PLAZA AND START OF MEHAM BY PASS ON DELHI HISAR RD , NH9 ON RHS	ROHTAK	Regular	160	OPEN CC 1	DC	50	50	2500	25	75	Draw of Lots	15	5
87	SECTOR 26 GURUGRAM -FARIBADAB ROAD	GURUGRAM	Regular	305	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
88	BETWEEN VILLAGE KHORI TO VILLAGE KUND ON REWARI NARNAUL ROAD NH-11	REWARI	Regular	275	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4

89	BETWEEN 23 KM TO 25 KM STONE ON REWARI- NARNAUL ROAD NH-11 RHS	REWARI	Regular	275	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
90	BETWEEN VILLAGE RAGHUNATHPURA ON VILLAGE HAMIDPUR ON NARNAUL SINGHANA ROAD NH-11 LHS	MAHENDRAGARH	Regular	305	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
91	WITHIN 5 KMS IN AND AROUND ATELI ON REWARI NARNAUL ROAD NH-11	MAHENDRAGARH	Regular	205	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
92	ON GURUGRAM -SOHNA ROAD BETWEEN MILESTONE NUMBER 21 TO 24 (LHS)	GURUGRAM	Regular	190	sc	CFS	40	45	1800	0	0	Draw of Lots	0	3
93	BETWEEN VILLAGE RAGHUNATHPURA ON VILLAGE HAMIDPUR ON NARNAUL SINGHANA ROAD NH-11 RHS	MAHENDRAGARH	Regular	275	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
94	BETWEEN 20 KM TO 23 KM STONE ON REWARI NARNAUL ROAD NH-11 RHS	REWARI	Regular	245	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
95	SECTOR 90, ON ROAD DIVIDING SECTOR 90 AND SECTOR 91	GURUGRAM	Regular	160	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
96	VILLAGE GWAL PAHARI ON MANDI ROAD	GURUGRAM	Regular	220	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
97	VILLAGE HANSAKA ON REWARI DHARUHERA ROAD NH-919	REWARI	Regular	170	OPEN	сс	40	45	1800	25	10	Bidding	30	5
98	FROM RAO GOPALDEV CHOWK TO RAOTULARAM CHOWK WML REWARI	REWARI	Regular	180	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
99	MAIN SECTOR ROAD CONNECTING SPR AND FORTIS MEMORIAL HOSPITAL	GURUGRAM	Regular	335	OBC PH	DC	30	30	900	25	60	Draw of Lots	15	4
100	VILLAGE ULLAWAS, SECTOR 62, GURUGRAM	GURUGRAM	Regular	210	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
101	TOWN KANINA WITHIN MUNICIPLE LIMIT	MAHENDRAGARH	Regular	135	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
102	BETWEEN 100 KM TO 102 KM STONE ON DELHI JAIPUR ROAD NH-48 (OLD NH-8) RHS	REWARI	Regular	275	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
103	VILL. BACHHOD ON REWARI NARNAUL ROAD NH- 11	REWARI	Regular	205	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
104	WITHIN 1 KM FROM GOPAL DEV CHOWNK ON REWARI NARNAUL ROAD NH-11	REWARI	Regular	180	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5

105	BETWEEN MANESAR AND PACHGAON, ON NH-8 (DELHI-JAIPUR HIGHWAY), LHS.	GURUGRAM	Regular	275	sc	CFS	40	45	1800	0	0	Draw of Lots	0	3
106	BETWEEN 102 KM TO 104 KM STONE ON DELHI- JAIPUR ROAD NH-48 (OLD NH-8) RHS	REWARI	Regular	365	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
107	BETWEEN 86 KM TO 88 KM STONE ON DELHI JAIPUR ROAD NH-48 (OLD NH-8) RHS	REWARI	Regular	380	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
108	BETWEEN KULTAJPUR ROAD TO RAMBASS ROAD ON NARNAUL BYPASS EXPRESSWAY NH-148B	MAHENDRAGARH	Regular	245	OPEN	сс	40	45	1800	25	10	Bidding	30	5
109	SECTOR 26 A GURUGRAM CITY	GURUGRAM	Regular	290	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
110	BETWEEN NEW BALAJI AUTO MARKET TO IRRIGATION CANAL ON REWARI DHARUHERA ROAD NH-919 LHS	REWARI	Regular	175	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
111	VILLAGE GANGOLI ON REWARI NARNAUL ROAD NH-11	REWARI	Regular	220	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
112	ROHTAK WML	ROHTAK	Regular	150	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
113	BETWEEN VILL. HANSAKA TO VILL. BALLIYAR KHURD ON REWARI DHARUHERA ROAD NH-919 RHS	REWARI	Regular	150	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
114	BETWEEN 80 KM TO 86 KM STONE ON DELHI - JAIPUR ROAD NH-48 (OLD NH-8) RHS	REWARI	Regular	240	sc	CFS	40	45	1800	0	0	Draw of Lots	0	3
115	ON NAICHANA ROAD FROM INTERSECTION WITH NH-48 UPTO RAILWAY CROSSING WITHIN BAWAL MUNICIPAL LIMITS	REWARI	Regular	240	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
116	442 KM TO 445 KM STONE ON REWARI - JHAJJAR ROAD NH-352 (OLD NH-71) LHS	REWARI	Regular	180	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
117	BETWEEN DURGA COLONY TO GOKALGARH ON BOTH SIDES OF ROAD WITHIN REWARI MUNICIPAL LIMITS	REWARI	Regular	185	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
118	IN OR BETWEEN KM STONE 76 TO 77 ON NH19 (OLD NH2) LHS FROM FARIDABAD TO MATHURA	PALWAL	Regular	220	sc	CFS	40	45	1800	0	0	Draw of Lots	0	3
119	BEWTEEN 41 KM TO 42 KM STONE ON REWARI - NARNAUL ROAD NH-11 LHS	REWARI	Regular	205	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
120	BETWEEN 18 KM TO 19 KM STONE REWARI NARNAUL ROAD NH-11 LHS	REWARI	Regular	190	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5

								-						
121	SECTOR- 102 , DAULTABAD	GURUGRAM	Regular	200	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
122	BETWEEN KM STONE 65 TO 68 ON LHS FROM PALWAL TO MATHURA ON NH19 (OLD NH2)	PALWAL	Regular	340	OBC CC 1	DC	40	45	1800	25	75	Draw of Lots	15	4
123	SECTOR 30 OR SECTOR 31, FARIDABAD BYEPASS ROAD	FARIDABAD	Regular	345	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
124	WITHIN 5 KMS FROM JIND CHOWK , ROHTAK ON JIND ROAD NH352 (OLD NH71) ON LHS	ROHTAK	Regular	210	OPEN PH	DC	40	45	1800	25	75	Draw of Lots	15	5
125	BETWEEN 104 KM TO 105 KM STONE ON DELHI JAIPUR ROAD NH-48 (OLD NH-8) RHS	REWARI	Regular	375	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
126	ON AKHMIPUR TEEKLI ROAD WITH 2 KM FROM SOHNA ROAD(NH 248)	GURUGRAM	Regular	220	OPEN	сс	20	20	400	25	10	Bidding	30	5
127	SECTOR 64 OR SECTOR 65, FARIDABAD BYE PASS ROAD	FARIDABAD	Regular	215	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
128	ON NH-48 FROM DELHI TO JAIPUR , LHS BETWEEN KM STONE 59 & 61	GURUGRAM	Regular	415	OPEN	сс	45	45	2025	25	10	Bidding	30	5
129	WITHIN ATELI MUNICIPAL LIMITS	MAHENDRAGARH	Regular	205	OBC	DC	40	45	1800	25	45	Draw of Lots	15	4
130	ON NH-48 FROM DELHI TO JAIPUR , LHS BETWEEN KM STONE 61 & 63	GURUGRAM	Regular	275	OPEN	сс	45	45	2025	25	10	Bidding	30	5
131	SECTOR 12 MAINROAD, WEST RAJIV NAGAR	GURUGRAM	Regular	250	OPEN	сс	20	20	400	25	10	Bidding	30	5
132	BETWEEN KM STONE 40-44 ON NH - 19 (OLD NH- 2) RHS FROM DELHI TO MATHURA	FARIDABAD	Regular	235	sc	CFS	40	45	1800	0	0	Draw of Lots	0	3
133	WITHIN REWARI CITY FROM MAHARANA PRATAP CHOWNK TO RAJIV CHOWNK ON RHS	REWARI	Regular	195	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
134	WITHIN 1 KM FROM SOHNA BUS STAND TOWARDS GURUGRAM ON GURUGRAM SOHNA ROAD	GURUGRAM	Regular	240	OPEN	сс	20	20	400	25	10	Bidding	30	5
135	WIHTIN 6 KMS FROM BALAJI TEMPLE KHARAWAR ON DELHI RD , NH9 (OLD NH10) ON LHS	ROHTAK	Regular	210	OPEN CC 1	DC	40	45	1800	25	75	Draw of Lots	15	5
136	BETWEEN BADARPUR BORDER AND SECTOR 16 INTERSECTION ON FARIDABAD BYEPASS ROAD, FARIDABAD WML	FARIDABAD	Regular	285	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

137	BETWEEN 23 TO 25 KM STONE ON REWARI- NARNAUL ROAD NH-11 LHS	REWARI	Regular	245	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
138	BETWEEN KM STONE. 60 TO 62 , ON NH-8 (NEW NH-48) (DELHI-JAIPUR HIGHWAY), RHS.	GURUGRAM	Regular	330	OPEN	сс	40	45	1800	25	10	Bidding	30	5
139	ON SPR BETWEEN VATIKA CHOWK TO NH 8 ,(NEW NH-48) GURUGRAM (L.H .S)	GURUGRAM	Regular	240	OPEN	сс	20	20	400	25	10	Bidding	30	5
140	VILLAGE MAJRA ON REWARI NARNAUL ROAD NH-11	REWARI	Regular	205	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
141	BETWEEN ANKHIR CHOWK AND SURAJKUND ON SURAJKUND ROAD, FARIDABAD WML	FARIDABAD	Regular	265	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
142	ON SPR BETWEEN VATIKA CHOWK TO NH 8 , (NEW NH-48)GURUGRAM.( R.H .S)	GURUGRAM	Regular	240	OPEN	сс	20	20	400	25	10	Bidding	30	5
143	ON SOHNA ROAD BETWEEN SHUBASH CHOWK TO VATIKA CHOWK (RHS)	GURUGRAM	Regular	320	OPEN	сс	20	20	400	25	10	Bidding	30	5
144	MAHENDERGARH CITY WML	MAHENDRAGARH	Regular	260	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
145	VILLAGE BAMNIKHERA ON LHS FROM FARIDABAD TO MATHURA ON NH19 (OLD NH2)	PALWAL	Regular	260	sc	CFS	40	45	1800	0	0	Draw of Lots	0	3
146	SECTOR 85, GURUGRAM WML	GURUGRAM	Regular	180	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
147	SECTOR- 27 ON DIVIDING ROAD SEC 27 - SECTOR 43 SHUSHANT LOK PHASE 1 HUDACITY CENTER GOLF COURSE ROAD	GURUGRAM	Regular	310	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
148	BETWEEN 7 KM TO 9 KM STONE ON REWARI NARNAUL ROAD NH-11	REWARI	Regular	230	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
149	SECTOR- 68 OR SECTOR 69, FARIDABAD - WML	FARIDABAD	Regular	230	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
150	SECTOR 66 ON 60 METER WIDE HUDA SECTOR ROAD	GURUGRAM	Regular	200	OPEN	сс	20	20	400	25	10	Bidding	30	5
151	WITHIN 1 KM FROM GOPAL DEV CHOWNK ON REWARI MAHENDERGARH ROAD	REWARI	Regular	180	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
152	ON CAPTAIN CANDANLAL MARG (CONNECTING SOHNA ROAD TO NH 8 VIA BEHRAMPUR )	GURUGRAM	Regular	290	OPEN	сс	20	20	400	25	10	Bidding	30	5

153	WITHIN 2 KM OF G D GOENKA SCHOOL ON GURUGRAM-SOHNA ROAD (NH-248) LHS.	GURUGRAM	Regular	290	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
154	IN OR BETWEEN KM STONE 39 TO 42 LHS FROM DELHI TO MATHURA ON NH-19 (OLD NH-2)	FARIDABAD	Regular	240	sc	CFS	40	45	1800	0	0	Draw of Lots	0	3
155	VILLAGE FAIZABAD ON NARNAUL MAHENDERGARH ROAD NH-148B	MAHENDRAGARH	Regular	210	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
156	VILLAGE BADSHAPUR, SECTOR 66 ON NH 248 A	GURUGRAM	Regular	200	OPEN	сс	20	20	400	25	10	Bidding	30	5
157	ON NH71 FROM ROHTAK TOWARDS NH-8, (NEW NH-48) LHS, BETWEEN STONE NO.433 AND 435	REWARI	Regular	190	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
158	FARIDABAD ( WML ) ON MOHNA ROAD	FARIDABAD	Regular	240	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
159	BETWEEN 445 KM TO 448 KM STONE ON REWARI - JHAJJAR ROAD NH-352 (OLD NH-71)	REWARI	Regular	215	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
160	ON GURUGRAM PATAUDI ROAD, WITHIN 4 KM FROM KADIPUR CHOWK, LHS, WML GURUGRAM	GURUGRAM	Regular	300	OPEN	сс	20	20	400	25	10	Bidding	30	5
161	WITHIN 5 KMS FROM BOUNDRY OF JHAJJAR DISTT. ON FARUKHNAGAR ROAD TOWARDS JHAJJAR SH15A ON RHS	Jhajjar	Regular	150	OPEN CC 1	DC	40	40	1600	25	60	Draw of Lots	15	5
162	VILLAGE TEHNA DIPALPUR ON REWARI JHAJJAR ROAD NH-352 (OLD NH-71)	REWARI	Regular	260	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
163	FARIDABAD (WML) ON TIGAON ROAD	FARIDABAD	Regular	210	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
164	ON PATAUDI ROAD, SECTOR 10 A WITHIN GURUGRAM WML	GURUGRAM	Regular	250	OPEN	СС	20	20	400	25	10	Bidding	30	5
165	WITHIN 2 KM FROM SOHNA CHOWK TOWARDS NUH NH -248A	GURUGRAM	Regular	250	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
166	BETWEEN NANGAL MUNDI TO SIHA ON REWARI - MAHENDERGARH ROAD SH-24	REWARI	Regular	285	OBC	DC	40	36	1440	25	60	Draw of Lots	15	4
167	SECTOR 58 FARIDABAD ( WML )	FARIDABAD	Regular	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
168	VILLAGE BHANGROLA, SECTOR M10 ON ROAD CONNECTING PATAUDI ROAD TO IMT MANESAR, TOWARD IMT MANESAR, RHS	GURUGRAM	Regular	190	OPEN	сс	20	20	400	25	10	Bidding	30	5

										-				
169	SECTOR 111, CHOMA ROAD NEW PALAM VIHAR PHASE - 3	GURUGRAM	Regular	260	OPEN	сс	20	20	400	25	10	Bidding	30	5
170	FROM DAHINA POLICE POST WITHIN 1.5 KM TOWARDS KANINA ON REWARI MAHENDERGARH ROAD SH-24	REWARI	Regular	285	OBC	DC	40	36	1440	25	60	Draw of Lots	15	4
171	ON PATAUDI ROAD, FROM KADIPUR CHOWK TOWARDS PATAUDI (LHS) WITHIN 2 KM FROM JHANKAR COLLEGE	GURUGRAM	Regular	230	OPEN	сс	40	45	1800	25	10	Bidding	30	5
172	BALLABHGARH ( WML )	FARIDABAD	Regular	260	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
173	BETWEEN MADINA KORSAN TOLL PLAZA AND END OF LIMITS OF ROHTAK DISTT ON HISAR RD , NH9 ON LHS	ROHTAK	Regular	180	OPEN CC 2	DC	50	50	2500	25	75	Draw of Lots	15	5
174	IN SECTOR 6 OR SECTOR 7 OR SECTOR 8 FARIDABAD ( WML )	FARIDABAD	Regular	290	OBC CC 1	DC	30	30	900	25	60	Draw of Lots	15	4
175	BETWEEN KM STONE. 55 TO 58 , ON NH-8 (NEW NH-48) (DELHI-JAIPUR HIGHWAY), RHS.	GURUGRAM	Regular	270	OPEN	сс	40	45	1800	25	10	Bidding	30	5
176	HARDWARE CHOWK TO SOHNA T POINT ( SECTOR 22 23 ROAD) FARIDABAD (WML)	FARIDABAD	Regular	400	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
177	WITHIN REWARI MUNICIPAL LIMITS ON REWARI KHANDODA ROAD SH-15	REWARI	Regular	195	OBC	DC	40	36	1440	25	45	Draw of Lots	15	4
178	BETWEEN KM STONE. 58 TO 60, ON NH-8 (NEW NH-48) (DELHI-JAIPUR HIGHWAY), RHS	GURUGRAM	Regular	330	OPEN	сс	40	45	1800	25	10	Bidding	30	5
179	ON GARHI ROAD CONNECTING NH-8 TO VILLAGE GARHI, WITHIN 1 KM FROM NH-8, DHARUHERA WML	REWARI	Regular	180	OPEN	сс	20	20	400	25	10	Bidding	30	5
180	ON ROAD DIVIDING SECTOR 86 & SECTOR 90	GURUGRAM	Regular	210	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
181	VILLAGE- BADKHAL, FARIDABAD ( WML )	FARIDABAD	Regular	245	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
182	BETWEEN DHARUHERA AND RAJASTHAN BORDER ON BHIWADI RD (NH-71B)	REWARI	Regular	230	OPEN	сс	40	45	1800	25	10	Bidding	30	5
183	ON GURUGRAM-BASAI ROAD - RHS WHILE GOING TOWARDS BASAI FROM GURUGRAM	GURUGRAM	Regular	230	OPEN	сс	20	20	400	25	10	Bidding	30	5
184	WML NARNAAUL CITY	MAHENDRAGARH	Regular	225	OBC	DC	20	20	400	25	45	Draw of Lots	15	4

185	ON LHS BETWEEN GOODYEAR CHOWK TO JHARSENTLI ON NH19 (OLD NH2) WHILE GOING FROM DELHI TO MATHURA, FARIDABAD( WML)	FARIDABAD	Regular	245	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
186	BETWEEN MOKALWAS AND PANCHGAON ON SH 26 (PANCHGAON - JAMALPUR ROAD)	GURUGRAM	Regular	210	OPEN	DC	40	45	1800	25	60	Draw of Lots	15	5
187	WITHIN MUNICIPAL LIMITS OF BAHADURGARH ON JHAJJAR ROAD ON, LHS, SH22	Jhajjar	Regular	180	OPEN CC 1	DC	50	50	2500	25	60	Draw of Lots	15	5
188	BETWEEN DHARUHERA CHUNGI TO POLICE LINES ON REWARI DHARUHERA ROAD NH-919 RHS	REWARI	Regular	160	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
189	BETWEEN SECTOR 32 TO SECTOR 20 B ON NH19 (OLD NH-2) ON ANYSIDE, FARIDABAD ( WML)	FARIDABAD	Regular	265	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
190	ON NANDRAMPUR BASS ROAD WITHIN 500 MTR FROM BHAGAT SINGH CHOWK TOWARDS NANDRAMPUR BASS , WML DHARUHERA	REWARI	Regular	170	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
191	SHIVAJI NAGAR HIDAYATPUR CHAVNI, SECTOR 11	GURUGRAM	Regular	290	OPEN	сс	20	20	400	25	10	Bidding	30	5
192	BETWEEN 93 KM TO 96 KM STONE ON DELHI JAIPUR ROAD NH-48 (OLD NH-8) RHS	REWARI	Regular	235	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
193	WITHIN 2 KM OF BALLABGARH METRO STATION, WML ON NH19(OLD NH2) RHS FROM DELHI TO MATHURA	FARIDABAD	Regular	230	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
194	IN ANY ONE OF THE SECTORS 38,39,40,41,42,43,44,45,46, FARIDABD ( WML )	FARIDABAD	Regular	260	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
195	BETWEEN KM STONE 48 TO 54 ON NH19 (OLD NH2) LHS FROM FARIDABABD TO PALWAL	PALWAL	Regular	215	OPEN	СС	40	45	1800	25	10	Bidding	30	5
196	BETWEEN 96 KM TO 98 KM STONE ON DELHI JAIPUR ROAD NH-48 (OLD NH-8) RHS	REWARI	Regular	235	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
197	WITHIN 3 KMS FROM NHPC RESIDENTIAL COLONY GATENO 1 ON SURAJKUND ROAD TILL PALI TOLL ROAD LHS, FARIDABAD WML	FARIDABAD	Regular	250	OPEN	сс	30	30	900	25	10	Bidding	30	5
198	ON SECTOR 30 / 31 DIVIDING ROAD, FARIDABAD ( WML)	FARIDABAD	Regular	355	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
199	SECTOR 88 , FRIDABAD WML	FARIDABAD	Regular	200	OBC PH	DC	30	30	900	25	60	Draw of Lots	15	4
200	VILLAGE RANHERA KHERA, FARIDABAD WML	FARIDABAD	Regular	250	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5

			-					-	-					
201	ON PALWAL- ALIGARH ROAD, PALWAL ( WML )	PALWAL	Regular	135	OPEN	сс	30	30	900	25	10	Bidding	30	5
202	BETWEEN 69 KM TO 75 KM STONE ON DELHI JAIPUR ROAD NH-48 (OLD NH-8) RHS	REWARI	Regular	215	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
203	ON LHS BALLABHGARH-PALI ROAD, FARIDABAD ( WML ) WHILE GOING FROM BALLABHGARH TO PALI	FARIDABAD	Regular	280	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
204	BETWEEN KM STONE 60 AND 62 ON RHS FROM DELHI TO MATHURA ON NH19 (OLD NH2) DELHI MATHURA ROAD	PALWAL	Regular	200	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
205	BETWEEN BATA CHOWK AND HARDWARE CHOWK, ON RHS WHILE GOING FROM BATA CHOWK TO HARDWARE CHOWK, FARIDABAD	FARIDABAD	Regular	375	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
206	BETWEEN75 KM TO 80 KM STONE ON DELHI JAIPUR ROAD NH-48 (OLD NH-8) RHS	REWARI	Regular	395	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
207	ON LHS BETWEEN KM STONE 87 TO 90 ON NH19 (OLD NH2) WHILE GOING FROM DELHI TO MATHURA	PALWAL	Regular	305	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
208	SECTOR 81, FARIDABAD WML	FARIDABAD	Regular	215	OPEN	сс	30	30	900	25	10	Bidding	30	5
209	WITHIN 1 KMS OF PALWAL MINI SECRETARIAT ON NH19 (OLD NH2) LHS FROM MATHURA TO DELHI, PALWAL WML	PALWAL	Regular	225	OPEN	сс	20	20	400	25	10	Bidding	30	5
210	VILLAGE BHANCHARI ON LHS FROM DELHI TO MATHURA, NH19 (OLD NH2)	PALWAL	Regular	240	OPEN	СС	40	45	1800	25	10	Bidding	30	5
211	ON SOHNA ROAD BETWEEN SHUBASH CHOWK TO VATIKA CHOWK (LHS)	GURUGRAM	Regular	400	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
212	WITHIN THE BOUNDARY OF ROHTAK DISTRICT FROM SAMPLA ON JHAJJAR RD NH334B ON RHS	ROHTAK	Regular	180	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
213	VILLAGE AMADALPUR ON JHAJJAR REWARI ROAD NH352 (OLD NH71) ON RHS	JHAJJAR	Regular	155	OPEN CC 1	DC	40	45	1800	25	75	Draw of Lots	15	5
214	ON SOHNA ROAD BETWEEN BADHASPUR TO BHONDSI (LHS)	GURUGRAM	Regular	240	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
215	BETWEEN KM STONE 90 TO 95 ON LHS FROM DELHI TO MATHURA ON NH19 DELHI MATHURA ROAD	PALWAL	Regular	325	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
216	WITHIN 1 KM FROM SILANIPANAZALIM BYEPASS ON DIVERSION ROAD TOWARDS JHAJJAR ON RHS	Jhajjar	Regular	160	SC	CFS	50	50	2500	0	0	Draw of Lots	0	3

217	WITHIN 1 KM FROM DC RESIDENCE PALWAL WML, ON RHS FROM FARIDABAD TO MATHURA NH19 (OLD NH2)	PALWAL	Regular	245	OPEN	сс	20	20	400	25	10	Bidding	30	5
218	SECTOR 84, ON ROAD DIVIDING SECTOR 84 AND SECTOR 85	GURUGRAM	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
219	ROHTAK WML FROM SHANTMAYI CHOWK ROHTAK ON JHAJJAR ROAD	ROHTAK	Regular	180	OPEN	сс	20	20	400	25	10	Bidding	30	5
220	BETWEEN KM STONE 42 AND 44 ON GOHANA MEHAM ROAD , SH-16A ON LHS	ROHTAK	Regular	150	OPEN	DC	40	40	1600	25	60	Draw of Lots	15	5
221	WITHIN 5 KMS FROM ROHTAK OUTER BYPASS ON JHAJJAR ROAD NH352 (OLD NH71) ON LHS	ROHTAK	Regular	150	SC CC 1	CFS	50	50	2500	0	0	Draw of Lots	0	3
222	VILLAGE LAKHAN MAJRA ON ROHTAK JIND RD NH352 (OLD NH71)	ROHTAK	Regular	150	OBC CC 1	DC	40	45	1800	25	75	Draw of Lots	15	4
223	WITHIN 1 KM FROM ROHTAK NEW BUS STAND ON RAJIV GANDHI STADIUM ROAD	ROHTAK	Regular	170	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
224	VILLAGE KANHELI WITHIN MUNICIPAL LIMITS OF ROHTAK ON HUDA ROAD	ROHTAK	Regular	180	OPEN PH	DC	25	25	625	25	45	Draw of Lots	15	5
225	RHS, VILLAGE AURANGABAD, ON DELHI- MATHURA ROAD BETWEEN KILOMETER 72 & 74	PALWAL	Regular	200	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
226	SEC 25A MG ROAD GURUGRAM	GURUGRAM	Regular	450	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
227	BETWEEN JHAJJAR CHUNGI AND SUNARIA CHOWK ROHTAK	ROHTAK	Regular	200	OPEN	сс	20	20	400	25	10	Bidding	30	5
228	VILL. MASANI ON REWARI DHARUHERA ROAD NH-919 RHS	REWARI	Regular	180	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
229	BETWEEN VILLAGE ASHAN AND VILLAGE KANSALA ON ROHTAK SONEPAT RD SH18 ON LHS	ROHTAK	Regular	150	SC	CFS	40	40	1600	0	0	Draw of Lots	0	3
230	MEHAM WML ON OLD HISSAR-ROHTAK ROAD	ROHTAK	Regular	150	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
231	BETWEEN KM STONE 365 AND 367 ON ROHTAK JHAJJAR ROAD NH352 (OLD NH71) ON RHS	ROHTAK	Regular	150	OPEN	DC	40	50	2000	25	75	Draw of Lots	15	5
232	BETWEEN KM STONE 50 & 52 ON JHAJJAR KOSLI ROAD SH-22 ON LHS	Jhajjar	Regular	150	OPEN	DC	40	40	1600	25	60	Draw of Lots	15	5

233	JHAJJAR WML EXCEPT ON NH	Jhajjar	Regular	150	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
234	WITHIN 5 KMS FROM BOUNDARY OF ROHTAK DISTT ON GOHANA RD TOWARDS ROHTAK NH709 (OLD NH71A) ON LHS	ROHTAK	Regular	170	sc	CFS	50	50	2500	0	0	Draw of Lots	0	3
235	BETWEEN KM STONE 152 AND 153 ON CHHUCHAKWAS CHAKRHI DADRI RD ON RHS, NH334B	JHAJJAR	Regular	160	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
236	WITHIN 3 KMS FROM JHAJJAR OUTER BYPASS ON JHAJJAR- FARRUKHNAGAR ROAD SH15A ON LHS	Jhajjar	Regular	150	OPEN CC 1	DC	40	40	1600	25	60	Draw of Lots	15	5
237	VILLAGE- SARAI AURANGABAD , MILE STONE 37 TO 39 FROM DELHI TO ROHTAK NH9 (OLD NH10) LHS	JHAJJAR	Regular	210	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
238	VILLAGE - KILOI MUNIMPUR ON JHAJJAR FARUKHNAGAR RD SH 15A	Jhajjar	Regular	80	SC	CFS	40	36	1440	0	0	Draw of Lots	0	3
239	BETWEEN KM STONE 378 TO 379 ON ROHTAK JHAJJAR ROAD NH352 (OLD NH71) ON LHS	Jhajjar	Regular	150	OPEN	DC	50	50	2500	25	75	Draw of Lots	15	5
240	SECTOR 84 ON DWARKA EXPRESSWAY	GURUGRAM	Regular	210	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
241	BETWEEN CHOTU RAM CHOWK AND ASHOKA CHOWK ROHTAK ON DELHI RD	ROHTAK	Regular	180	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
242	ON REWARI JHAJJAR ROAD NEW NH-352 (OLD NH-71) WITHIN 5 KMS FROM NH-48 (OLD NH-8) CROSSING ON LHS	REWARI	Regular	285	sc	CFS	40	45	1800	0	0	Draw of Lots	0	3
243	ON OLD DELHI-GURUGRAM ROAD, WITHIN 2 KMS FROM ATUL KATARIA CHOWK TOWARDS DELHI,LHS	GURUGRAM	Regular	280	OPEN	сс	20	20	400	25	10	Bidding	30	5
244	BETWEEN 75 KM TO 80 KM STONE ON DELHI- JAIPUR ROAD NH-48, (OLD NH-8) LHS	REWARI	Regular	210	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
245	VILLAGE SALAUBATEH NUH NH 248A - BETWEEN KM STONE 39-41 DELHI ALWAR ROAD RHS	NUH	Regular	220	OPEN CC 1	DC	40	45	1800	25	75	Draw of Lots	15	5
246	WITHIN 3 KMS FROM CROSSING WITH NH-48 (OLD NH-8) ON REWARI JHAJJAR ROAD, NH-352 (OLD NH-71) RHS	REWARI	Regular	160	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
247	SECTOR M15 VILLAGE BAS KUSHLA	GURUGRAM	Regular	180	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
248	WITHIN I.5 KMS FROM ATUL KATARIA CHOWK ON MATA MANDIR ROAD WHILE GOING FROM ATUL KATARIA CHOWK TOWARDS MATA	GURUGRAM	Regular	250	OPEN	сс	20	20	400	25	10	Bidding	30	5

249	ON GARHI ROAD, WITHIN 1 KM FROM INTERSECTION OF GARHI ROAD AND BASAI ROAD	GURUGRAM	Regular	230	OPEN	сс	20	20	400	25	10	Bidding	30	5
250	ON REWARI BAWAL ROAD WITHIN BAWAL MUNICIPAL LIMITS	REWARI	Regular	130	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
251	VILLAGE JHARSETLI, FARIDABAD BYE PASS, FARIDABAD WML	FARIDABAD	Regular	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
252	WITHIN 1 KM OF PALWAL DC RESIDENCE ON NH 19 (OLD NH-2) LHS WHILE GOING TO DELHI TO MATHURA , PALWAL WML	PALWAL	Regular	200	OPEN	сс	20	20	400	25	10	Bidding	30	5
253	BETWEEN ALAWALPUR PUR CHOWK AND HUDA CHOWK ON NH -19 (OLD NH-2) LHS FROM DELHI TO MATHURA PALWAL WML	PALWAL	Regular	200	OPEN	сс	20	20	400	25	10	Bidding	30	5
254	SECTOR 58, ON 60 METER WIDE HUDA SECTOR ROAD	GURUGRAM	Regular	210	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
255	NH3, DABUA ROAD, NIT FARIDABAD, FARIDABAD WML	FARIDABAD	Regular	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
256	PALWAL WML ON PALWAL NUH ROAD	PALWAL	Regular	200	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
257	VILLAGE- PAHARAWAR ON ROHTAK NEW BYPASS HISSAR - DELHI ROAD, NH-9 (OLD NH-10) ON LHS	ROHTAK	Regular	170	OPEN	DC	50	50	2500	25	75	Draw of Lots	15	5
258	VILLAGE BEGUMPUR KHOTLA ON SOUTHERN PERHIPHERAL ROAD	GURUGRAM	Regular	200	ОВС РН	DC	20	20	400	25	60	Draw of Lots	15	4
259	ON LHS OF VILLAGE DHAMALA ON DELHI-ALWAR ROAD - NH 248	NUH	Regular	220	SC PH	CFS	40	45	1800	0	0	Draw of Lots	0	3
260	BETWEEN KM STONE 54-65 ON DELHI-ROHTAK ROAD, NH-9 (OLD-NH-10) ON LHS	ROHTAK	Regular	180	OPEN	DC	50	50	2500	25	75	Draw of Lots	15	5
261	VILLAGE- DOBH ON DELHI-HISSAR ROAD NH-9 (OLD NH-10) ON LHS	ROHTAK	Regular	180	OPEN	DC	50	50	2500	25	75	Draw of Lots	15	5
262	VILLAGE GWAL PAHADI ON GURUGRAM FARIDABAD ROAD.	GURUGRAM	Regular	250	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
263	BAHADURGARH WML ON OLD ROHTAK DELHI RD	Jhajjar	Regular	155	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
264	BETWEEN KM STONE 72 & 74 ON NH 48 TOWARDS JAIPUR, LHS	REWARI	Regular	230	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3

265	WITHIN 5 KM FROM SOHNA BYPASS CHOWK TOWARDS TAURU NH -919	GURUGRAM	Regular	250	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
266	SECTOR 26- A GURUGRAM -FARIBADAB ROAD	GURUGRAM	Regular	200	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
267	ON GOLF COURSE ROAD BETWEEN BRISTOL CHOWK TO RAJESH PILOT ROAD INTERSECTION (RHS)	GURUGRAM	Regular	200	OPEN	сс	20	20	400	25	10	Bidding	30	5
268	ON PALAM VIHAR ROAD FROM REZANG LA CHOWK TO SEC 5	GURUGRAM	Regular	170	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
269	DLF PHASE 5 TO GAWAL PAHARI ROAD (L.H.S)	GURUGRAM	Regular	200	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
270	ON GOLF COURSE ROAD BETWEEN BRISTOL CHOWK TO RAJESH PILOT ROAD INTERSECTION (LHS)	GURUGRAM	Regular	200	OPEN	сс	20	20	400	25	10	Bidding	30	5
271	BETWEEN RAJEEV CHOWK, ROHTAK AND IMT ROUND ABOUT ON ROHTAK DELHI ROAD	ROHTAK	Regular	170	OPEN CC 1	DC	30	30	900	25	45	Draw of Lots	15	5
272	SECTOR 73, BEHRAMPUR ROAD GURUGRAM	GURUGRAM	Regular	190	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
273	ON RHS OF VILLAGE DHAMALA ON DELHI- ALWAR ROAD - NH 248	NUH	Regular	220	sc	CFS	40	45	1800	0	0	Draw of Lots	0	3
274	ON SOUTHER PHERIPHERAL ROAD B/W VATIKA CHOWK TO SECTOR 56 CROSSING(LHS)	GURUGRAM	Regular	200	OPEN	сс	20	20	400	25	10	Bidding	30	5
275	BETWEEN 88 KM TO 93 KM STONE ON DELHI- JAIPUR ROAD NH-48 (OLD NH-8) RHS	REWARI	Regular	210	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
276	WITHIN 1 KM OF ALIGARH CHOWK IN PALWAL WML ON NH19 (OLD NH2)	PALWAL	Regular	267	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
277	WITHIN THE BOUNDARY OF ROHTAK DISTRICT FROM SAMPLA ON JHAJJAR RD NH334B ON LHS	ROHTAK	Regular	180	sc	CFS	40	45	1800	0	0	Draw of Lots	0	3
278	WITHIN 2 KMS FROM HISAR BYPASS, ROHTAK ON HISSAR ROAD ON LHS	ROHTAK	Regular	180	OPEN	сс	30	35	1050	25	10	Bidding	30	5
279	JHAJJAR WML 2	Jhajjar	Regular	150	OPEN	сс	20	20	400	25	10	Bidding	30	5
280	WITHIN 10 KMS FROM JHAJJAR OUTER BY PASS ON ROHTAK RD NH352 (OLD NH71) ON LHS	Jhajjar	Regular	165	OPEN	DC	50	50	2500	25	75	Draw of Lots	15	5

281	VILLAGE SIHI EXCLUDING SECTOR 84, ON DWARKA EXPRESSWAY	GURUGRAM	Regular	180	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
282	WITHIN 5 KMS FROM SCHOLARS ROSARY SCHOOL , ROHTAK ON GOHANA RD NH709 (OLD NH71A) ON RHS	ROHTAK	Regular	180	SC CC 1	CFS	50	50	2500	0	0	Draw of Lots	0	3
283	RHS , VILLAGE KAIL GAON BETWEEN KM STONE NO 41 & 42 ON DELHI-MATHURA ROAD	FARIDABAD	Regular	200	OPEN PH	DC	40	45	1800	25	75	Draw of Lots	15	5
284	ON SOHNA ROAD BETWEEN ALIPUR TO SOHNA BUS STAND (LHS)	GURUGRAM	Regular	300	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
285	WITHIN 3 KMS FROM JHAJJAR OUTER BYPASS ON JHAJJAR SAMPLA ROAD NH334B	Jhajjar	Regular	195	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
286	VILLAGE TITAULI ON ROHTAK JIND RD NH352 (OLD NH71)	ROHTAK	Regular	150	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
287	BETWEEN KM STONE 8 AND 10 ON BAHADURGARH JHAJJAR ROAD SH22 ON LHS	Jhajjar	Regular	210	OPEN	DC	40	50	2000	25	60	Draw of Lots	15	5
288	WITHIN THE BOUNDARY OF ROHTAK DISTRICT FROM LAKHAN MAJRA CHOWK TOWARDS JIND , ON LHS	ROHTAK	Regular	150	OBC	DC	50	50	2500	25	75	Draw of Lots	15	4
289	BETWEEN BERI ROAD AND SAMPLA ROAD ON CHHARA NEW BYPASS NH334B	Jhajjar	Regular	180	OPEN	DC	50	50	2500	25	75	Draw of Lots	15	5
290	WITHIN 5 KMS FROM SCHOLARS ROSARY SCHOOL , ROHTAK ON GOHANA RD NH709 (OLD NH71A) ON LHS	ROHTAK	Regular	180	OPEN	DC	50	50	2500	25	75	Draw of Lots	15	5
291	WITHIN THE BOUNDARY OF ROHTAK DISTRICT FROM LAKHAN MAJRA CHOWK TOWARDS JIND , ON RHS	ROHTAK	Regular	150	sc	CFS	50	50	2500	0	0	Draw of Lots	0	3
292	OUTER ROAD, NH3 DABUA ROAD, NIT FARIDABAD	FARIDABAD	Regular	200	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
293	WITHIN 3 KMS FROM BAHADURGARH BYPASS ON JHAJJAR ROAD , SH 22 TOWARDS JHAJJAR ON RHS	Jhajjar	Regular	150	OPEN	DC	40	40	1600	25	60	Draw of Lots	15	5
294	ON LINK ROAD OF NH9 AND NH352 BETWEEN BAHU AKBARPUR AND SUNDERPUR ON LHS	ROHTAK	Regular	150	OPEN CC 1	DC	50	50	2500	25	75	Draw of Lots	15	5
295	ON LINK ROAD OF NH9 AND NH352 BETWEEN BAHU AKBARPUR AND SUNDERPUR ON RHS	ROHTAK	Regular	150	sc	CFS	50	50	2500	0	0	Draw of Lots	0	3
296	ON PROPOSED LINK ROAD OF NH352 AND NH709 ON LHS	ROHTAK	Regular	150	OBC	DC	50	50	2500	25	75	Draw of Lots	15	4

297	VILLAGE DHANWAPUR ON DWARKA EXPRESSWAY	GURUGRAM	Regular	180	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
298	SECTOR 102 ON DWARKA EXPRESSWAY	GURUGRAM	Regular	180	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
299	ON PROPOSED LINK ROAD OF NH352 AND NH709 ON RHS	ROHTAK	Regular	150	OBC	DC	50	50	2500	25	75	Draw of Lots	15	4
300	VILLAGE HARSARU IN SECTOR 88 B OPPOSITE SECTOR 37 D ON DWARKA EXPRESSWAY	GURUGRAM	Regular	190	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
301	ON NEW CONNECTING ROAD FROM SPR TO NH8 IN ANY OF THE SECTOR 75A OR SECTOR 76.	GURUGRAM	Regular	180	OPEN	сс	20	20	400	25	10	Bidding	30	5
302	SECTOR 82A, ON ROAD DIVIDING SECTOR 82A & SECTOR 82	GURUGRAM	Regular	165	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
303	SECTOR 79,FARIDABAD WML	FARIDABAD	Regular	200	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
304	SECTOR 107 VILLAGE DAULTABAD OPPOSITE SECTOR 103	GURUGRAM	Regular	200	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
305	SECTOR 88 ON DWARKA EXPRESSWAY	GURUGRAM	Regular	160	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
306	VILLAGE AGWANPUR, DELHI MATHURA RODA LHS FROM DELHI TO MATHURA NH19 (OLD NH2), PALWAL WML	PALWAL	Regular	200	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
307	VILLAGE MUBARAKPUR ON FARUKHNAGAR NEW BY PASS ROAD, TOWARDS JHAJJAR RHS	GURUGRAM	Regular	200	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
308	BETWEEN KM STONE. 67 & 69, ON NH-8, (NEW NH-48) TOWARDS DELHI, RHS	REWARI	Regular	280	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
309	SECTOR 37, FARIDABD WML	FARIDABAD	Regular	200	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
310	69 KM TO 72 KM STONE ON DELHI JAIPUR ROAD NH-48 (OLD NH-8) LHS	REWARI	Regular	270	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
311	ON ROAD DIVIDING SECTOR 17 & SECTOR 18, FROM NH 48 TOWARDS OLD DELHI-GURUGRAM ROAD, RHS	GURUGRAM	Regular	310	OPEN	сс	20	20	400	25	10	Bidding	30	5
312	ON NEW RAILWAY ROAD TOWARDS SEC.5 WITHIN 500 MTR. GPO GURUGRAM RHS	GURUGRAM	Regular	250	OPEN	сс	20	20	400	25	10	Bidding	30	5

313	WITHIN 3 KMS FROM CROSSING WITH NH-48 (OLD NH-8) IN VILLAGE SANGWARI ON REWARI JHAJJAR ROAD, NH-352 (OLD NH-71) LHS	REWARI	Regular	200	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
314	VILLAGE BHANGROLA, SECTOR M10 ON ROAD CONNECTING PATAUDI ROAD TO IMT MANESAR, TOWARD IMT MANESAR, LHS	GURUGRAM	Regular	180	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
315	VILLAGE KARONTHA ON JHAJJAR ROHTAK ROAD NH 352 (OLD NH71) ON RHS	ROHTAK	Regular	210	OPEN	DC	50	50	2500	25	75	Draw of Lots	15	5
316	BETWEEN JHAJJAR OUTER BYPASS AND KULANAA MOR ON JHAJJAR-REWARI ROAD NH352 (OLD NH71) ON LHS	Jhajjar	Regular	155	OPEN	DC	50	50	2500	25	75	Draw of Lots	15	5
317	VILLAGE BAMDOLI, SECTOR 89, GURUGRAM	GURUGRAM	Regular	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
318	VILLAGE SHABAJPUR KHALSA ON GARHI BOLINI RD LHS	REWARI	Rural	195	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
319	VILLAGE MONOTA ON PUNHANA -BEEMA ROAD	NUH	Rural	225	OBC	DC	40	36	1440	12	30	Draw of Lots	5	3
320	VILL PAKHAL, ON BALLABGARH TO SOHNA ROAD	FARIDABAD	Rural	155	SC	CFS	40	36	1440	0	0	Draw of Lots	0	2
321	BHUDPUR VILLAGE ON REWARI - KOSLI ROAD ON LHS	REWARI	Rural	255	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
322	PAHLAWAS TO PATAUDI ROAD WITHIN 3 KM FROM NH 352	REWARI	Rural	150	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
323	VILLAGE JAMALGRAH ON PUNHANA BHEEMA ROAD	NUH	Rural	245	OBC	DC	40	36	1440	12	30	Draw of Lots	5	3
324	BETWEEN VILLAGE GUBANA AND BARKHTABAD ON BADLI BAHDURGARH ROAD EXCLUDING SOLDHA AND GUBANA	JHAJJAR	Rural	140	sc	CFS	40	36	1440	0	0	Draw of Lots	0	2
325	WITHIN 2 KM FROM INTERSECTION WITH REWARI - NARNAUL ROAD ON REWARI - KANUKA ROAD	REWARI	Rural	180	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
326	VILLAGE PAIGA ON MAHENDERGARH - ATELI ROAD	MAHENDRAGARH	Rural	220	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
327	VILL. BERLI KALAN ON REWARI KOSLI ROAD	REWARI	Rural	220	OBC	DC	40	36	1440	12	30	Draw of Lots	5	3
328	WITHIN 2 KM FROM GUDIYANI BUS STAND ON GUDIYANI KOSLI ROAD	REWARI	Rural	210	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4

329	BETWEEN BADLI AND GUBANA ON BADLI BAHADURGARH RD EXCEPT VILLAGE MAJRI	Jhajjar	Rural	120	SC	CFS	40	36	1440	0	0	Draw of Lots	0	2
330	VILL. JATUSANA	REWARI	Rural	180	OBC	DC	40	36	1440	12	30	Draw of Lots	5	3
331	VILLAGE SHERI SINGHALHERI ON PUNHANA JAMALGARH ROAD	NUH	Rural	175	OPEN CC 1	DC	40	36	1440	12	30	Draw of Lots	5	4
332	BETWEEN VILLAGE LISANA TO VILLAGEBIKANER ON OLD REWARI JHAJJAR ROAD	REWARI	Rural	130	OPEN	DC	40	46	1840	12	30	Draw of Lots	5	4
333	VILLAGE THEKRA ON NUH-HODAL ROAD	NUH	Rural	225	SC	CFS	40	36	1440	0	0	Draw of Lots	0	2
334	VILL. BHOJAWAS	MAHENDRAGARH	Rural	125	OBC	DC	40	36	1440	12	30	Draw of Lots	5	3
335	WITHIN THE BOUNDARY OF ROHTAK DISTRICT ON SAMPLA BERI ROAD	ROHTAK	Rural	100	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
336	VILLAGE KALRAWAS	REWARI	Rural	165	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
337	VILLAGE MOTHUKA ON CHANDPUR GHARORA ROAD	FARIDABAD	Rural	255	sc	CFS	40	36	1440	0	0	Draw of Lots	0	2
338	ON BAWAL -TIHARA ROAD WITHIN 2 KM FROM BAWAL EXCLUDING VILLAGE TIHARA	REWARI	Rural	165	OBC	DC	40	36	1440	12	30	Draw of Lots	5	3
339	VILL BITHWANA ON REWARI BAWAL ROAD	REWARI	Rural	130	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
340	VILLAGE ALAWLPUR	PALWAL	Rural	100	OPEN CC 2	DC	40	36	1440	12	30	Draw of Lots	5	4
341	VILLAGE KULASI ON BAHADURGARH NAHRA NAHRI ROAD	Jhajjar	Rural	80	OBC CC 1	DC	40	36	1440	12	30	Draw of Lots	5	3
342	VILLAGE LIKHI ON HASSANPUR BAMNIKHERA ROAD	PALWAL	Rural	100	SC CC 1	CFS	40	36	1440	0	0	Draw of Lots	0	2
343	VILLAGE PINANGWAN , ON MDR 131 BADHKALI - PINANGWA ROAD	NUH	Rural	230	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
344	BETWEEN VILLAGE JAINDAPUR AND VILLAGE SEHRALA ON JAINDPUR SEHRALA ROAD	PALWAL	Rural	100	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4

345	ON BAWAL KOTKASIM ROAD WITHIN 2 KMS FROM BAWAL TOWN	REWARI	Rural	185	OBC	DC	40	36	1440	12	30	Draw of Lots	5	3
346	VILL PRITHLA ON PRITHLA CHAPROLA ROAD	PALWAL	Rural	170	sc	CFS	40	36	1440	0	0	Draw of Lots	0	2
347	VILLAGE CHACHERA , ON NUH -PALWAL ROAD	NUH	Rural	305	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
348	WITHIN 5 KMS FOM JHAJJAR OUTER BYPASS ON BADLI RD ON RHS	Jhajjar	Rural	120	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
349	VILL. DHANI BATHOTHA ON NIZAMPUR - NANGAL CHAUDHARY ROAD	MAHENDRAGARH	Rural	180	OBC	DC	40	36	1440	12	30	Draw of Lots	5	3
350	VILLAGE BERI ON DUJANA ROAD	JHAJJAR	Rural	100	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
351	BETWEEN VILLAGE SONDHBAD AND VILLAGE BAHIN ON HODAL NUH ROAD	PALWAL	Rural	175	sc	CFS	40	36	1440	0	0	Draw of Lots	0	2
352	BETWEEN KM STONE 22 AND 24 ON CHHUCHAKWAS KAROLI ROAD	Jhajjar	Rural	160	OPEN	DC	40	40	1600	12	30	Draw of Lots	5	4
353	FROM KUND CROSSING ON BEHROR RD UPTO RAJASTHAN BORDER IN VILL. PADLA WHILE MOVING TOWARDS RAJASTHAN LHS	REWARI	Rural	150	OBC	DC	40	36	1440	12	30	Draw of Lots	5	3
354	IN OR WITHIN 2 KMS OF VILLAGE BERI ON CHHUCHAKWAS ROAD	Jhajjar	Rural	150	OPEN CC 1	DC	40	40	1600	12	30	Draw of Lots	5	4
355	VILL MANNPUR	PALWAL	Rural	215	SC	CFS	40	36	1440	0	0	Draw of Lots	0	2
356	VILL KHANDORA	REWARI	Rural	150	OBC	DC	40	36	1440	12	30	Draw of Lots	5	3
357	VILLAGE SASROLI ON MATANHEIL JHARLI ROAD	Jhajjar	Rural	160	OPEN	DC	40	40	1600	12	30	Draw of Lots	5	4
358	VILLAGE KHANPUR GHATI ON PUNHANA BADAKALI ROAD	NUH	Rural	250	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
359	WITHIN 5 KMS FOM JHAJJAR OUTER BYPASS ON BADLI RD ON LHS	Jhajjar	Rural	120	OBC	DC	40	36	1440	12	30	Draw of Lots	5	3
360	BETWEEN VILLAGE LALWA AND MANDKOLA ON PALWAL NUH ROAD	PALWAL	Rural	200	SC	CFS	40	36	1440	0	0	Draw of Lots	0	2

			-											
361	VILLAGE BADLI	Jhajjar	Rural	120	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
362	VILLAGE MAHENDERWARA ON BHONDSI - PALWAL ROAD (PERMIT LANE ROAD)	GURUGRAM	Rural	110	OPEN CC 1	DC	40	36	1440	12	30	Draw of Lots	5	4
363	ON REWARI BAWAL ROAD AT VILLAGE KAMALPUR, LHS	REWARI	Rural	130	sc	CFS	40	36	1440	0	0	Draw of Lots	0	2
364	VILLAGE- DAUHLA ON BHONDSI-PALWAL ROAD (PERMIT LANE ROAD)	GURUGRAM	Rural	110	OBC	DC	40	36	1440	12	30	Draw of Lots	5	3
365	IN OR BETWEEN BAINSI AND AJAIB ON AJAIB BAINSI ROAD	ROHTAK	Rural	85	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
366	ON PERMIT LANE (SHER SHAH SURI MARG),ADJOINING ABHEYPUR, DAMDAMA LAKE RESORT	GURUGRAM	Rural	110	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
367	VILLAGE- BAKHA PUR ON REWARI KOT- KASIM ROAD	REWARI	Rural	110	OBC	DC	40	36	1440	12	30	Draw of Lots	5	3
368	VILLAGE NACHOLI	FARIDABAD	Rural	100	sc	CFS	40	36	1440	0	0	Draw of Lots	0	2
369	VILLAGE PALI, BALLABHGARH-SOHNA RD	Faridabad	Rural	100	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
370	VILLAGE BHUPANI ON FARIDABAD TO KHERI ROAD	Faridabad	Rural	100	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
371	VILLAGE GHARORA	FARIDABAD	Rural	100	OBC	DC	40	36	1440	12	30	Draw of Lots	5	3
372	VILLAGE MOHAMMADPUR ON WAZIRPUR FARUKHNAGAR ROAD ON RHS	GURUGRAM	Rural	100	sc	CFS	40	36	1440	0	0	Draw of Lots	0	2
373	VILLAGE CHIRWARI, KITHWARI TO GHORI ROAD	PALWAL	Rural	85	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
374	B/W MILESTONE NUMBER 8 AND 11 ON MDR 131 BHADKALI TO PINANGWA ROAD	GURUGRAM	Rural	100	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
375	VILLAGE RANGLA ON TAURU RATHIWAS ROAD	GURUGRAM	Rural	100	OBC	DC	40	36	1440	12	30	Draw of Lots	5	3
376	VILLAGE NOTAKI ON BADHKALI-TIJORA ROAD (MDR 131)	GURUGRAM	Rural	100	SC	CFS	40	36	1440	0	0	Draw of Lots	0	2

377	VILLAGE KAMEDA ON FIROZPURZIRKA -KAMA ROAD	GURUGRAM	Rural	100	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
378	On NH1 (Delhi Ambala Road) Between 66km Stone to 70km Stone, on RHS Towards Ambala	Panipat	Regular	220	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
379	Karnal To Kaithal Rd within 5 Kms from Karnal WML	KARNAL	Regular	150	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
380	Vill Bastali on SH-8	KARNAL	Regular	110	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
381	From Gogripur Phatak Chowk on LHS towards Namaste Chowk -KARNAL WML	KARNAL	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
382	On NH-44 (OLD NH-1 ) between KM stone 688 and 686 on LHS towards Ambala within Karnal District	KARNAL	Regular	200	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
383	Within 5 Kms from AssandhWML towards Karnal on NH-709A	KARNAL	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
384	Vill Samora on SH-7	KARNAL	Regular	101	OBC	DC	40	36	1440	25	60	Draw of Lots	15	4
385	On Karnal Kachhwa Road within Karnal WML	KARNAL	Regular	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
386	On NH-44 (OLD NH-1 ) between KM stone 735 and 733 LHS towards Ambala from Delhi	KARNAL	Regular	200	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
387	On NH-44 (OLD NH-1 ) between KM stone 701 and 699 on LHS towards Ambala from Delhi	KARNAL	Regular	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
388	On SH-7 within Karnal WML LHS towards Indri	KARNAL	Regular	170	OBC	сс	35	35	1225	25	10	Bidding	30	4
389	On Hansi Road within Karnal WML	KARNAL	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
390	Between Meera Ghati Chowk and Namaste Chowk NH-1, Karnal WML	KARNAL	Regular	120	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
391	ON NH 152 (OLD NH-65) BETWEEN KM STONE 18 TO 21 , AMBALA TO HISSAR LHS	AMBALA	Regular	205	OPEN	сс	60	60	3600	25	10	Bidding	30	5
392	ON NH-72 (AMBALA-KALAMB ROAD) BETWEEN KM STONE 42 TO 45 AMBALA TO KALAAMB LHS	AMBALA	Regular	215	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

393	ON NH 344( OLD NH-72) FROM SHAHZADPUR TO THANA CHHAPPAR	AMBALA	Regular	170	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
394	ON NH-21A (PINJORE-BADDI ROAD) BETWEEN KM STONE 5 TO 7 , PINJORE BADDI- NALAGARH ROAD	PANCHKULA	Regular	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
395	ON NH-344, VILLAGE MANKA MANKI , JAGADHARI TO AMBALA LHS	AMBALA	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
396	ARYA CHOWK TO JAGADHARI GATE IN AMBALA WML	AMBALA	Regular	180	OPEN	DC	20	18	360	25	45	Draw of Lots	15	5
397	ON NH-73 (NEW NH 7) BETWEEN KM STONE 164 AND 168 (LHS FROM PANCHKULA TO YAMUNANAGAR)	PANCHKULA	Regular	170	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
398	On Jain College Road, Ambala City	AMBALA	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
399	On NH 72 Ambala-Dehradun Road, Between Naraingarh chowk Baldev nagar to Village Mandhour RHS	Ambala	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
400	On NH-1 (DELHI-AMBALA ROAD) BETWEEN KM STONE 190 TO 196 , Delhi to Ambala Road LHS	AMBALA	Regular	156	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
401	On NH-152 (Ambala-Zirakpur Road) between Ambala city and Lalru within District Ambala( From Lalru to Ambala)	AMBALA	Regular	230	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
402	ON SH-1 NARAINGARH TO SADHAURA	AMBALA	Regular	155	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
403	On NH 344(Old NH 72), Ambala to Dehradoon Road, Between Village Chhajju Majra to Village Dhanana.	AMBALA	Regular	155	OBC	сс	35	45	1575	25	10	Bidding	30	4
404	SHAMBHU BARRIER TO AMBALA-CHANDIGARH ROAD (ON NEW AMBALA BYPASS ROAD)	AMBALA	Regular	180	OPEN	сс	35	45	1575	25	10	Bidding	30	5
405	ON NH 344 (OLD NH-72) FROM SHAHZADPUR TO THANA CHHAPPAR RHS BETWEEN KM STONE 105 TO 108	AMBALA	Regular	170	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
406	On Rambagh Road, Ambala Cant	AMBALA	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
407	ON SH-4,SADHORA TO DOSADKA RHS, BETWEEN KM STONE 32-34	AMBALA	Regular	105	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
408	ON NH-152 JANSUI TO SHAMBHU BARRIER LHS	AMBALA	Regular	155	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

409	OLD KALKA AMBALA ROAD, VILLAGE KUNDI	PANCHKULA	Regular	240	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
410	ON NEW NH 105 (OLD NH-21A), FROM PINJORE CIVIL AERODRUM TO NAWANAGAR	PANCHKULA	Regular	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
411	On SH-4, Between Village Adhoi and Ugala	AMBALA	Regular	110	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
412	ON NH 73 (NEW NH 7) BETWEEN KM STONE 147 TO 150, PANCHKULA-YAMUNANAGAR LHS	AMBALA	Regular	170	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
413	ON NEW PINJORE BY PASS, CHAINAGE FROM 0.0 TO 7.7	PANCHKULA	Regular	210	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
414	KALKA WML	PANCHKULA	Regular	240	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
415	New Karnal road Kaithal WML	KAITHAL	Regular	135	OPEN	DC	26	20	520	25	45	Draw of Lots	15	5
416	Kaithal WML	KAITHAL	Regular	135	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
417	BETWEEN KM STONE 69-70 ON NH-152 (HISAR AMBALA ROAD)	KAITHAL	Regular	155	OPEN CC 2	DC	45	45	2025	25	75	Draw of Lots	15	5
418	BETWEEN MUNI FLOOR MILL TO ANAJ MANDI KALAYAT WML	KAITHAL	Regular	150	OBC CC 1	DC	26	20	520	25	45	Draw of Lots	15	4
419	BETWEEN KM STONE 27-32 ON NH-152 (HISAR AMBALA ROAD)	KAITHAL	Regular	150	OPEN	сс	45	45	2025	25	10	Bidding	30	5
420	BETWEEN KM STONE 20-21 ON NH-152 (HISAR AMBALA ROAD)	KAITHAL	Regular	145	sc	CFS	45	45	2025	0	0	Draw of Lots	0	3
421	NH-152 BETWEEN KM STONE 81-83(HISAR AMBALA ROAD)	KAITHAL	Regular	140	OBC	DC	45	45	2025	25	75	Draw of Lots	15	4
422	NH-152 village pinjupura tehsil kalayat (HISAR AMBALA ROAD)	KAITHAL	Regular	150	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
423	old byepass road balraj nagar kaithal WML	KAITHAL	Regular	120	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
424	AMBALA WML	AMBALA	Regular	160	OBC	DC	20	20	400	25	45	Draw of Lots	15	4

425	On NH-71A (Rohtak-Panipat Rd) between Kmstone 57 to 61 on RHS towards Panipat	Panipat	Regular	230	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
426	On NH-1 (Delhi - Ambala Rd) between Kmstone 64 to kmstone 66 on LHS towards Ambala	Sonipat	Regular	230	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
427	Sector 29 Panipat	Panipat	Regular	350	OPEN	сс	20	20	400	25	10	Bidding	30	5
428	Between KM Stone 19 -24 on Pnaipat Assandh Road, SH-14	Panipat	Regular	180	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
429	On Kharkhoda Sampla Rd - NH 334B within Sonipat Dist.	Sonipat	Regular	230	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
430	On Chautala Road (between Siwah and Chajpur)	Panipat	Regular	180	OPEN	DC	35	35	1225	25	45	Draw of Lots	15	5
431	Within 2 km of Pehlwan Chownk on Kutani Road WML.	Panipat	Regular	140	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
432	Between Thanachappar and start of Yamunanagar new byepass on NH 344 (LHS from Ambala to YNR)	Yamunanagar	Regular	159	OBC	DC	45	45	2025	25	75	Draw of Lots	15	4
433	On NH-1 (Delhi - Ambala Rd) between Kmstone 67 to kmstone 70 on LHS towards Ambala	Panipat	Regular	230	sc	CFS	40	45	1800	0	0	Draw of Lots	0	3
434	On NH-1 (Delhi - Ambala Rd) between Kmstone 78 to kmstone 82 on LHS towards Ambala	Panipat	Regular	230	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
435	On NH-1 (Delhi - Ambala Rd) between Kmstone 80 to kmstone 83 on RHS towards Ambala	Panipat	Regular	230	OPEN	сс	40	45	1800	25	10	Bidding	30	5
436	In Panipat town on Barsat Rd within WML	Panipat	Regular	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
437	Between 8 marla Chowk and canal on Jatal Rd	Panipat	Regular	160	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
438	Vill Madlauda on SH-14	Panipat	Regular	180	sc	CFS	40	40	1600	0	0	Draw of Lots	0	3
439	On NH-1 (Delhi - Ambala Rd) between Kmstone 75 to kmstone 77 on LHS towards Ambala	Panipat	Regular	230	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
440	On Mehm Road within Gohana WML.	Sonipat	Regular	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4

441	On NH-1 (Delhi - Ambala Rd) between Kmstone 51 to kmstone 53 on RHS towards Ambala	Sonipat	Regular	230	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
442	Within Panipat town WML	SONIPAT	Regular	150	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
443	Within Sonipat town WML	SONIPAT	Regular	150	OBC PH	DC	20	20	400	25	45	Draw of Lots	15	4
444	On NH-1 (Delhi - Ambala Rd) between Kmstone 30 to kmstone 33 on RHS towards Ambala	Sonipat	Regular	230	OPEN	сс	40	45	1800	25	10	Bidding	30	5
445	Old DC road, Sonipat WML	Sonipat	Regular	200	OPEN	сс	20	20	400	25	10	Bidding	30	5
446	On NH-1 (Delhi - Ambala Rd) between Kmstone 42 to kmstone 44 on LHS towards Ambala	Sonipat	Regular	230	OBC	сс	40	45	1800	25	10	Bidding	30	4
447	Village Kathura on SH16A	Sonipat	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
448	In Gannaur town from NH1 to Gannaur Railway Station Rd.	Sonipat	Regular	230	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
449	On NH-1 (Delhi - Ambala Rd) between Kmstone 42 to kmstone 44 on RHS towards Ambala	Sonipat	Regular	230	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
450	Gohana town WML	Sonipat	Regular	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
451	Within Samalkha WML	Panipat	Regular	230	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
452	On NH-1 (Delhi - Ambala Rd) between Kmstone 45 to kmstone 47 on RHS towards Ambala	Sonipat	Regular	230	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
453	On NH-1 (Delhi - Ambala Rd) between Kmstone 30 to kmstone 33 on LHS towards Ambala	Sonipat	Regular	230	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
454	Vill Chajpur On SH-16	Panipat	Regular	180	OPEN	DC	40	40	1600	25	60	Draw of Lots	15	5
455	Vill Ugrakheri on SH-16	Panipat	Regular	100	OBC	DC	40	40	1600	25	60	Draw of Lots	15	4
456	Vill Bhalsi on SH-14	Panipat	Regular	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

			-											
457	Shahabad WML on Shahabad Saha Road	KURUKSHETRA	Regular	150	OPEN CC 1	DC	20	26	520	25	45	Draw of Lots	15	5
458	Within 5km from Shahabad Bus Stand towards Ambala, LHS from Kurushetra to Ambala on NH 44(Old NH1)	KURUKSHETRA	Regular	170	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
459	Village Chagnauli on Jagadari Bilaspur Road	Yamunanagar	Regular	137	OPEN	DC	40	36	1440	25	60	Draw of Lots	15	5
460	On Pehowa new byepass RHS from Pehowa to Ismailabad	KURUKSHETRA	Regular	176	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
461	Village Tigri on Yamunanagar newbyepass (LHS Ambala to Saharanpur)	Yamunanagar	Regular	220	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
462	Village Padlu on Shahabad Barara Road	KURUKSHETRA	Regular	150	OBC	DC	35	45	1575	25	60	Draw of Lots	15	4
463	Village Kalanaur on YAMUNANAGAR NEW BYPASS (LHS from Ambala to SaharanPur)	Yamunanagar	Regular	218	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
464	Village Sudal on Yamunanagar byepass (LHS FROM AMBALA TO Saharanpur)	Yamunanagar	Regular	170	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
465	Village Gangheri on NH 52 (Old NH 65) (LHS from Ismailabad to Pehowa)	KURUKSHETRA	Regular	152	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
466	Village Jirbari on NH44 (old NH1) (LHS from Kurukshetra to karnal)	KURUKSHETRA	Regular	152	OBC CC 1	DC	50	50	2500	25	75	Draw of Lots	15	4
467	Industrial Area on Main Modi Mill Road (Around Oriental Engineering),YN WML	Yamunanagar	Regular	150	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
468	Within 2 Km from Sonipat Bus stand towards Gohana on Sonipat Gohana Road.	Sonipat	Regular	230	OPEN PH	DC	20	20	400	25	45	Draw of Lots	15	5
469	On Pehowa new byepass LHS from Pehowa to Ismailabad	KURUKSHETRA	Regular	176	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
470	Village Badi Mazra In Yamunanagar WML	Yamunanagar	Regular	155	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
471	Village Bheelchappar on Bilaspur Sadhura Road (RHS from Bilaspur to Sadhaura)	Yamunanagar	Regular	170	OPEN	DC	40	36	1440	25	60	Draw of Lots	15	5
472	Within 2 km from Bubka Chowk towards Yamunanagar on Yamunanagar - Ladwa Road	Yamunanagar	Regular	170	OBC	DC	40	36	1440	25	60	Draw of Lots	15	4

473	Village Mandoli on Yamunanagar newbyepass (RHS from Yamunanagar to Saharanpur)	Yamunanagar	Regular	220	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
474	Village Landi on NH44 (Old NH1) (RHS from Kurukshetra to Amabala)	KURUKSHETRA	Regular	200	OPEN	DC	50	50	2500	25	75	Draw of Lots	15	5
475	YNR Bus stand to Fountain Chowk on workshop Road (LHS from YNR Bus Stand to Fountain chowk),YN-WML	Yamunanagar	Regular	160	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
476	Village Aurangabad on Yamunanagar Ladwa Road within Yamunanagar WML	Yamunanagar	Regular	177	OPEN	DC	26	26	676	25	45	Draw of Lots	15	5
477	Village Gahri Mundo on Jagadari Yamunanagar RD (LHS from Jagarai to Yamunanagar) within Yamunanagar Municipal Limit	Yamunanagar	Regular	160	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
478	Village Tellipura On Newroad connecting NH 344(Old NH 73) to NH 907(Old NH 73A),YAMUNANAGAR	Yamunanagar	Regular	121	sc	CFS	40	36	1440	0	0	Draw of Lots	0	3
479	Within 1km from Neelam Cinema on Red Road 100ft wide,KURUKSHETRA WML	KURUKSHETRA	Regular	170	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
480	On Ismailabad new byepass LHS from Islmailabad to Ambala	KURUKSHETRA	Regular	158	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
481	Village Gulabgarh on Chhacharauli to Khizrabad Road	Yamunanagar	Regular	170	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
482	On Ismailabad new byepass RHS from Islmailabad to Ambala	KURUKSHETRA	Regular	200	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
483	Within Radaur WML on Guggamadi Road	Yamunanagar	Regular	110	OPEN	DC	20	26	520	25	45	Draw of Lots	15	5
484	Village bhootmajra on Yamunanagar newbyepass (RHS from Kalanaur to Ambala)	Yamunanagar	Regular	230	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
485	Village Tigri on Yamunanagar newbyepass (RHS Ambala to Saharanpur)	Yamunanagar	Regular	230	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
486	Village Sirsama on Kurukshetra Ladwa Road	KURUKSHETRA	Regular	99	OPEN	DC	40	40	1600	25	60	Draw of Lots	15	5
487	Nilokheri WML	KARNAL	Regular	110	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
488	Within 2 km of Primary Health Centre , Pinjore	PANCHKULA	Regular	170	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

489	Within 2km from BR International chowk on KDB Road-KURUKSHETRA WML	KURUKSHETRA	Regular	150	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
490	Village Moja Pansra Within YNR WML on thermal road	Yamunanagar	Regular	120	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
491	ON NH-152 (AMBALA-HISSAR ROAD), VILLAGE KALUMAJRA	AMBALA	Regular	230	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
492	Village Shadipur on khajouri Road	Yamunanagar	Regular	200	OBC	DC	20	30	600	25	45	Draw of Lots	15	4
493	Village Mamidi on Yamunanagar to Ladwa Road	Yamunanagar	Regular	140	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
494	On New NH-5 (Old NH 22), Zirakpur-Shimla Road,From Pinjore to Village Tipra	PANCHKULA	Regular	230	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
495	NARAINGARH-PANJLASA ROAD, IN NARAINGARH WML	AMBALA	Regular	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
496	FROM MOHRA TO CHORPUR, LHS, NH-1	AMBALA	Regular	170	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
497	ON NH 344( OLD NH-72) FROM SHAHZADPUR TO THANA CHHAPPAR LHS BETWEEN KM STONE 126 TO 135	AMBALA	Regular	230	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
498	VILLAGE FATEHGARHJHAROULI KALAN ON SHAHABAD THOL ROAD (SH-7)	KURUKSHETRA	Regular	125	OPEN	DC	40	36	1440	25	60	Draw of Lots	15	5
499	Ishar Nagar, On Mallah Road, with in 2 Kms of CRPF Camp Gate	AMBALA	Regular	180	OBC	DC	26	20	520	25	45	Draw of Lots	15	4
500	Karnal to Indri Road between KM stone 15 to 17 on RHS towards Indri	KARNAL	Regular	130	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
501	Between Km Stone 225-226, LHS from Kaital to Cheeka on SH11	Kaithal	Regular	160	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
502	VILLAGE DAHAR, ON NH-71A (RHOTAK-PANIPAT ROAD ON RHS) ON RHS TOWARDS PANIPAT	PANIPAT	Regular	220	OPEN	сс	40	45	1800	25	10	Bidding	30	5
503	From Tangri Bridge to Gol Chakar Indira Chowk, Jagadhari road, Ambala cantt	AMBALA	Regular	160	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
504	On NH-1 (Delhi - Ambala Rd) between Kmstone 60 to kmstone 62 on LHS towards Ambala	Sonipat	Regular	230	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5

·														
505	Between NH-44(Old NH-1) to Dhulkot railway Station (Dhulkot railway station road)	AMBALA	Regular	210	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
506	Vill Jawahari on Sonipat Bye-pass Road	Sonipat	Regular	230	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
507	On NH-44 (OLD NH-1) between KM stone 719 and 721 on LHS towards Ambala	KARNAL	Regular	180	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
508	Within 1 Km from Choturam Chowk towards Gohana on Sonipat Gohana Road.	Sonipat	Regular	150	OPEN	сс	20	20	400	25	10	Bidding	30	5
509	On NH-71A (Rohtak-Panipat Rd) between Kmstone 35 to 37 on RHS towards Panipat	Sonipat	Regular	230	sc	CFS	40	45	1800	0	0	Draw of Lots	0	3
510	ON NH-1 ,FROM AMBALA CANTT TO SHAHBAD LHS (LHS FROM AMBALA TO DELHI)	AMBALA	Regular	230	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
511	ON RAILWAY ROAD WITHIN AMBALA CITY	AMBALA	Regular	180	OPEN	DC	18	20	360	25	45	Draw of Lots	15	5
512	Village Nilokheri on SH33 Outside Municipal Limit	KARNAL	Regular	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
513	FROM PEHOWA CHOWK TO SHAH SATNAM CHOWK Kaithal WML	KAITHAL	Regular	100	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
514	Village Mauja Aarnauli on Bilaspur Jagadari Roadd	Yamunanagar	Regular	120	OBC	DC	40	36	1440	25	60	Draw of Lots	15	4
515	Rai WM L	Sonipat	Regular	240	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
516	Within Yamunanagar WML on Choti Line	Yamunanagar	Regular	150	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
517	Village Charon on Bilaspur Jagadari Road	Yamunanagar	Regular	120	OBC	DC	40	36	1440	25	60	Draw of Lots	15	4
518	on NH 152 RHS between village keorak to bherian towards kaithal from pehowa	KAITHAL	Regular	160	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
519	Village Nangalkhurd on NH44 (Old NH1)	Sonipat	Regular	230	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
520	Near Mansa Devi Complex, Panchkula	PANCHKULA	Regular	155	OBC	DC	35	45	1575	25	45	Draw of Lots	15	4

521	On NH152, BETWEEN KMSTONE 20 TO 27	AMBALA	Regular	155	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
522	PANCHKULA WML	PANCHKULA	Regular	180	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
523	On Barsat to Gharaunda road within 3 kms from new NH-44 intersection	KARNAL	Rural	100	sc	CFS	40	36	1440	0	0	Draw of Lots	0	2
524	VILLAGE SAHA, TEHSIL-MULLANA, DISTRICT- AMBALA	AMBALA	Rural	90	OBC	DC	40	36	1440	12	30	Draw of Lots	5	3
525	VILLAGE MOHAMADPUR ON ROHAT TO RAI ROAD	Sonipat	Rural	100	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
526	Village Bhogdharti	PANCHKULA	Rural	90	OPEN CC 1	DC	40	36	1440	12	30	Draw of Lots	5	4
527	Village Mohra	AMBALA	Rural	75	OBC	DC	40	36	1440	12	30	Draw of Lots	5	3
528	Vill Gamri on Gohana to Gannaur Road	Sonipat	Rural	100	sc	CFS	40	36	1440	0	0	Draw of Lots	0	2
529	VILLAGE SOHLU MAJRA KAITHAL BLOCK PUNDRI	KAITHAL	Rural	130	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
530	In Vill Silana on Sisana Farmanah Road	Sonipat	Rural	100	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
531	Vill Naraina tehsil Samalkha	Panipat	Rural	100	OBC	DC	40	36	1440	12	30	Draw of Lots	5	3
532	Vill Brahmanmajra on Naultha to Urlana road	Panipat	Rural	100	SC	CFS	40	36	1440	0	0	Draw of Lots	0	2
533	In Vill Jatheri on MDR 138	Sonipat	Rural	100	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
534	In or within Vill Chhatehra , Tehsil Gohana	Sonipat	Rural	100	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
535	In Vill Mahrana on old Panipat Gohana Rd	PANIPAT	Rural	100	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
536	In vill Murthal on Tajpur Murthal Road	SONIPAT	Rural	100	OBC CC 1	DC	40	36	1440	12	30	Draw of Lots	5	3

537	Village Roshanpur on Gannaur Begha Road	SONIPAT	Rural	100	SC CC 1	CFS	40	36	1440	0	0	Draw of Lots	0	2
538	Village machroli on Kapalmochan Sadhura Road	Yamunanagar	Rural	70	OPEN PH	DC	40	36	1440	12	30	Draw of Lots	5	4
539	Village Bandiykhajouri on kherilakhasingh road	Yamunanagar	Rural	70	OBC	DC	40	36	1440	12	30	Draw of Lots	5	3
540	Village Darwa on Jhotha Road(Old Saharanpur Road)	Yamunanagar	Rural	87	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
541	Village Ramsaran Majra on Babain Ladwa Road (RHS from Babain to Ladwa)	KURUKSHETRA	Rural	70	sc	CFS	40	36	1440	0	0	Draw of Lots	0	2
542	Village Umri	KURUKSHETRA	Rural	75	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
543	Village Urnaicha	KURUKSHETRA	Rural	85	OBC	DC	40	36	1440	12	30	Draw of Lots	5	3
544	Village doiwala	Yamunanagar	Rural	160	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
545	Village Kait on Jhotha Road(Old Saharanpur Road)	Yamunanagar	Rural	95	OPEN	DC	40	36	1440	12	30	Draw of Lots	5	4
546	Kohand to Assandh road between KM stone 5 to 7 on RHS towards Assandh	KARNAL	Rural	75	sc	CFS	40	36	1440	0	0	Draw of Lots	0	2
547	VILLAGE JANSUI	AMBALA	Rural	85	OBC	DC	40	36	1440	12	30	Draw of Lots	5	3
548	IN OR AROUND 3 KM OF VILLAGE AYALKI ON FATEHABAD TO RATIA ROAD	FATEHABAD	REGULAR	110	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
549	BETWEEN KM STONE 124 TO KM STONE 129 ON FATEHABAD NEW BYPASS ON NH 9, RHS OF HISAR TO SIRSA ROAD	FATEHABAD	REGULAR	150	sc	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
550	VILLAGE DHANAUDA ON NH 52, DISTT- JIND, LHS OF NARWANA TO SUREWALA CHOWK	JIND	REGULAR	150	OBC	сс	40	45	1800	25	10	BIDDING	30	4
551	JIND CITY WML AT BUDA BABA BASTI ON BHIWANI ROAD	JIND	REGULAR	120	OPEN	DC	20	20	400	25	75	DRAW OF LOTS	15	5
552	IN OR AROUND 2 KM OF VILLAGE ALEWA ON JIND ASANDH ROAD, NH 709A	JIND	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5

553	VILLAGE KHATKAR TO VILLAGE BARODA ON NH 352 ( JIND - NARWANA ROAD ), RHS	JIND	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
554	ON NEW JIND BYE PASS BETWEEN NARWANA ROAD JUNCTION TO SAFIDON ROAD JUNCTION, RHS	JIND	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
555	ON NEW JIND BYE PASS BETWEEN NARWANA ROAD JUNCTION TO SAFIDON ROAD JUNCTION, LHS	JIND	REGULAR	150	OPEN	сс	40	45	1800	25	10	BIDDING	30	5
556	WITHIN 2 KM FROM NARWANA ROAD JUNCTION OF NEW JIND BYPASS TOWARDS NARWANA ON RHS OF NH 352	JIND	REGULAR	150	OPEN	сс	40	45	1800	25	10	BIDDING	30	5
557	ON NEW JIND BYE PASS BETWEEN SAFIDON ROAD JUNCTION AND NH 352 (ROHTAK ROAD ) ON LHS	JIND	REGULAR	150	OBC	сс	40	45	1800	25	10	BIDDING	30	4
558	ON NEW JIND BYE PASS BETWEEN SAFIDON ROAD JUNCTION AND NH 352 (ROHTAK ROAD ) ON RHS	JIND	REGULAR	150	sc	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
559	PINDARA, JIND WML ON JIND - GOHANA ROAD	JIND	REGULAR	150	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
560	FATEHABAD WML ON BHATTU ROAD	FATEHABAD	REGULAR	110	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
561	VILLAGE KHATKAR TO VILLAGE BARODA ON NH 352 ( JIND - NARWANA ROAD ), LHS	JIND	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
562	IN OR AROUND 2 KM OF VILLAGE KINANA ON LHS OF JIND - ROHTAK ROAD , NH 352	JIND	REGULAR	150	sc	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
563	IN OR WITHIN 3 KM OF VILLAGE- BELARKHA TOWARDS NARAWANA, ON LHS OF NARWANA - KHANOURI ROAD ON NH 52	JIND	REGULAR	150	OPEN	сс	40	45	1800	25	10	BIDDING	30	5
564	IN OR AROUND VILLAGE DHAKAL BETWEEN KM STONE 3 TO KM STONE 6 ON NARWANA - KAITHAL ROAD NH 152, LHS	JIND	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
565	IN OR WITHIN 3 KM OF VILLAGE UJHANA ON RHS OF NARWANA TO KHANOURI ROAD, NH-52	JIND	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
566	IN OR AROUND 2 KM OF VILLAGE- JANDLI KHURD ON BHUNA- FATEHABAD ROAD	FATEHABAD	REGULAR	110	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
567	UCHANA KALAN WML, NOT ON NH	JIND	REGULAR	110	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
568	VILLAGE NIRJAN ON JIND SAFIDON ROAD , SH-14	JIND	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4

569	VILLAGE- RAMRAI ON HANSI ROAD SH 12	JIND	REGULAR	100	OPEN CC 1	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
570	JULANA WML, WITHIN 2 KM ON JULANA-HANSI ROAD	JIND	REGULAR	110	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
571	JIND WML, WITHIN 2 KM OF PATIALA CHOWK ON JIND- KAITHAL ROAD	JIND	REGULAR	110	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
572	JIND WML, WITHIN 2 KM ON JIND - AMREHDI ROAD	JIND	REGULAR	110	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
573	IN/ WITHIN 2 KMS OF VILLAGE DHANANA ON LHS BHIWANI TO JIND ON BHIWANI -JIND RD NH 709E	BHIWANI	REGULAR	150	OPEN	сс	40	45	1800	25	10	BIDDING	30	5
574	WITHIN KM STONE 158-160 ON RHS, VILL : JHUMPA RAJGARH ROAD , NH 52	BHIWANI	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
575	VILLAGE NAURANGABAD FROM BHIWANI TO ROHTAK ROAD ON NH709E	BHIWANI	REGULAR	150	sc	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
576	VILLAGE GOKALPURA ON SH 12	BHIWANI	REGULAR	210	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
577	IN 7WITHIN BITS COLLEGE TO KHAKAK VILLAGE IN VILL: PHULPURA , LHS ON BHIWANI KALANAUR ROAD ON BHIWANI ROHTAK ROAD NH 200E	BHIWANI	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
578	VILL MAUJGARH ON JEEVAN NAGAR - DABWALI ROAD	SIRSA	REGULAR	150	OPEN CC 2	сс	40	45	1800	25	10	BIDDING	30	5
579	ON BARWA BYPASS RHS , HISSAR TO SIWANI ON RAJGARH ROAD NH52	BHIWANI	REGULAR	150	OBC CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
580	BHIWANI CITY WML ON BHIWANI ROHTAK RD	BHIWANI	REGULAR	260	SC CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
581	VILL: BUDHSHELI, BETWEEN ROAD CROSSING OF VILL BUDHSHELLY AND VILL SAINIWAS , LHS SIWANI TO JHUMPA ON NH 52, RAJGARH ROAD	BHIWANI	REGULAR	150	OPEN	сс	40	45	1800	25	10	BIDDING	30	5
582	WITHIN KM STONE 184 -186 ON RHS, VILL: CHARKHI , DADRI TO BHADRA ON LOHARU ROAD., NH 334B	CHARKHI DADRI	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
583	FROM VILLAGE CHANG END UPTO NH09 CROSSING ON SH16A	BHIWANI	REGULAR	200	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
584	WITHIN 1KM OF PIPLI WALI JOHARI ON HANUMAN GATE CHOWK WITHIN BHIWANI WML	BHIWANI	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3

585	IN/WITHIN 3 KMS OF VILL BARSANA , FROM DADRI TO BHADRA ON DADRI LOHARU RD NH 334B	CHARKHI DADRI	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
586	IN/ WITHIN 3 KMS OF VILLAGE DEVSAR ON BHIWANI LOHARU RD, NH 709E	BHIWANI	REGULAR	150	OPEN	сс	40	45	1800	25	10	BIDDING	30	5
587	WITHIN 4KMS OF SIWANI BYPASS START ON SIWANI SIDE START ON RHS, NH 52	BHIWANI	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
588	VILL PAINTAWAS KHURD ON BHIWANI DADRI ROAD, LHS DADRI TO BHIWANI, NH 148B	CHARKHI DADRI	REGULAR	150	OPEN	сс	40	45	1800	25	10	BIDDING	30	5
589	WITHIN BHIWANI WML ON CIRCULAR ROAD, BHIWANI	BHIWANI	REGULAR	220	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
590	WITHIN KM STONE 142 TO 145 , VILL : DHANI BARAHAMAN, ON BHIWANI LOHARU ROAD, NH 709E	BHIWANI	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
591	WITHIN 4KMS FROM SIWANI BYPASS BYPASS BEFORE HISSAR END LHS, NH 52	BHIWANI	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
592	ON DADRI BYPASS BETWEEN NH709E AND NH334B AT CHARKHI DADRI WML	CHARKHI DADRI	REGULAR	160	OPEN CC 1	DC	20	25	500	25	45	DRAW OF LOTS	15	5
593	DADRI WML IN DADRI TOWN ON MAHENDRAGARH ROAD	CHARKHI DADRI	REGULAR	155	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
594	ON NH 9 BETWEEN KM STONE 107-114, RHS ON SIRSA FATEHABAD ROAD	SIRSA	REGULAR	170	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
595	SIRSA CITY (WML) ON MAHARAN PRATAP CHOWK TO NH 09 - SIRSA BY PASS CROSSING	SIRSA	REGULAR	150	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
596	VILL ALIPUR TITUKHERA ON SIRSA - ELLANABAD ROAD, SH-23	SIRSA	REGULAR	150	OPEN	DC	40	45	1800	25	60	DRAW OF LOTS	15	5
597	ON BARNALA ROAD - ON KHS ON SIRSA TO BARNALA ROAD(NH 703) - WITHIN 13 KM FROM SIRSA MUNICIPALITY LIMIT (INSIDE HARYANA ROADER)	SIRSA	REGULAR	160	OBC	сс	40	45	1800	25	10	BIDDING	30	4
598	SIRSA WML ON SIRSA HISAR ROAD ON RHS	SIRSA	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
599	ON LHS ON MANDI DABWALI TO CHAUTALA ROAD, WITH IN DABWALI WML	SIRSA	REGULAR	150	OPEN	DC	40	45	1800	25	45	DRAW OF LOTS	15	5
600	SIRSA WML ON SIRSA -RANIA ROAD	SIRSA	REGULAR	160	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5

601	ON NH 9 ON RHS ON FATEHABAD TO SIRSA ROAD, WITH IN KM STONE 110-114	SIRSA	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
602	ON NH 9 ON LHS ON MANDI DABWALI TO DELHI ROAD, WITHIN KM STONE 83-98	SIRSA	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
603	ON RHS ON VILLAGE CHOUTALA TO MANDI DABWALI ROAD BETWEEN KM STONE 10-20	SIRSA	REGULAR	170	OPEN	DC	20	45	900	25	75	DRAW OF LOTS	15	5
604	ON NH 9 , ON LHS ON MANDI DABWALI TO SIRSA ROAD, WITHIN KM STONE 35-45	SIRSA	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
605	ON NH 9 ON LHS ON MANDI DABWALI TO SIRSA ROAD, WITH IN KM STONE 55-70	SIRSA	REGULAR	150	OBC PH	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
606	ON NH 9 - LHS SIRSA TO MANDI DABWALI - WITH IN KM STONE 40-47	SIRSA	REGULAR	150	SC PH	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
607	VILLAGE CHAUTALA -ON NH 54 , RHS GOING TOWARDS RAJASTHAN - WITHIN 5 KM FROM RAJASTHAN BORDER	SIRSA	RegULAR	170	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
608	SIRSA CITY (WML) ON BARNALA ROAD - RHS TOWARD SIRSA TO BARNALA - NH 703	SIRSA	REGULAR	160	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
609	SIRSA CITY (WML) ON BARNALA ROAD - LHS TOWARD SIRSA TO BARNALA - NH 703	SIRSA	REGULAR	160	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
610	ON LHS ON VILLAGE CHOUTALA TO MANDI DABWALI ROAD BETWEEN KM STONE 10-20	SIRSA	REGULAR	170	OPEN	сс	40	45	1800	25	10	BIDDING	30	5
611	ON NH 9 ON LHS ON SIRSA TO FATEHABAD ROAD , WITH IN KM STONE 105-100	SIRSA	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
612	ELLANABAD WML	SIRSA	REGULAR	160	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
613	UN BARNALA ROAD - UN LIS UN SIRSA TU BARNALA ROAD (NH 703) - WITHIN 13 KM FROM SIRSA MUNICIPALITY LIMIT (INSIDE HARYANA BORDED)	SIRSA	REGULAR	155	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
614	ON NH 9 - LHS SIRSA TO MANDI DABWALI - WITH IN KM STONE 51-56	SIRSA	REGULAR	150	OPEN	сс	40	45	1800	25	10	BIDDING	30	5
615	DABWALI CITY (WML) - EXCEPT DABWALI TO CHAUTALA ROAD	SIRSA	REGULAR	160	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
616	HISAR WML ARYANAGAR ROAD	HISAR	REGULAR	100	OBC	DC	26	20	520	25	45	DRAW OF LOTS	15	4

617	HISAR WML DABRA CHOWK TO INTERSECTION OF OLD DELHI ROAD AND NH 9(NH10) ON O.P JINDAL MARG	HISAR	REGULAR	110	OPEN	DC	26	20	520	25	45	DRAW OF LOTS	15	5
618	ON BARWALA BYEPASS LHS FROM HISSAR TO TOHANA	HISAR	REGULAR	150	OPEN CC 1	DC	40	40	1600	25	75	DRAW OF LOTS	15	5
619	ON BARWALA BYEPASS RHS FROM HISSAR TO TOHANA	HISAR	REGULAR	150	OBC	DC	40	40	1600	25	75	DRAW OF LOTS	15	4
620	ON HANSI BYEPASS LHS FROM HISAR TO DELHI	HISAR	REGULAR	150	sc	CFS	50	50	2500	0	0	DRAW OF LOTS	0	3
621	HISAR WML KAMIRY ROAD	HISAR	REGULAR	100	OPEN	DC	26	20	520	25	45	DRAW OF LOTS	15	5
622	HANSI WML ON OLD HISAR-DELHI ROAD	HISAR	REGULAR	110	OPEN	DC	26	20	520	25	45	DRAW OF LOTS	15	5
623	BETWEEN ADAMPUR AND RAJASTHAN BORDER ON SH-10 EXCEPT MODAKHERA	HISAR	REGULAR	100	OBC	DC	40	36	1440	25	60	DRAW OF LOTS	15	4
624	HANSI WML ON JAMALPUR ROAD	HISAR	REGULAR	100	sc	CFS	26	20	520	0	0	DRAW OF LOTS	0	3
625	HISAR WML RANILAXMI BAI CHOWK TO CIVIL HOSPITAL	HISAR	REGULAR	100	OPEN	DC	26	20	520	25	45	DRAW OF LOTS	15	5
626	IN BETWEEN AGROHA TO KALIRAVAN (EXCLUDING KALIRAVAN),SH 10	HISAR	REGULAR	100	OPEN	DC	40	36	1440	25	60	DRAW OF LOTS	15	5
627	HANSI WML ON UMRA ROAD	HISAR	REGULAR	100	OPEN	DC	20	26	520	25	45	DRAW OF LOTS	15	5
628	RHS BETWEEN NH9 AND BARWALA ON HANSI- BARWALA ROAD NH-148 B	HISAR	REGULAR	150	OBC CC 1	DC	40	40	1600	25	75	DRAW OF LOTS	15	4
629	ON HISSAR BYEPASS(NH52) BETWEEN MUKLAN AND TALWANDI RANA INTERSECTION LHS FROM MUKLAN TO TALWANDI RANA	HISAR	REGULAR	150	SC CC 1	CFS	50	50	2500	0	0	DRAW OF LOTS	0	3
630	IN BETWEEN ADAMPUR TO KALIRAVAN(EXCLUDING KALIRAVAN),SH 10	HISAR	REGULAR	100	OPEN PH	DC	40	36	1440	25	60	DRAW OF LOTS	15	5
631	ON AGROHA-BARWALA RD BETWEEN AGROHA AND BALAK CHOWK	HISAR	REGULAR	100	OBC	DC	40	36	1440	25	60	DRAW OF LOTS	15	4
632	ON SOUTHERN BYPASS ROAD BETWEEN INTERSECTION WITH HISAR-TOSHAM ROAD AND OLD DELHI ROAD	HISAR	REGULAR	110	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5

633	HANSI WML ON BHIWANI ROAD	HISAR	REGULAR	100	SC	CFS	26	20	520	0	0	DRAW OF LOTS	0	3
634	HISAR WML DABRA CHOWK TO ITI CHOWK	HISAR	REGULAR	120	OPEN	DC	26	20	520	25	45	DRAW OF LOTS	15	5
635	HISAR WML ITI CHOWK TO AADHAR HOSPITAL	HISAR	REGULAR	120	OBC	DC	26	20	520	25	45	DRAW OF LOTS	15	4
636	BETWEEN GAIBIPUR AND SATLOK ASHRAM ON NH52(OLD NH 65) LHS TOWARDS BARWALA	HISAR	REGULAR	150	OPEN	сс	50	50	2500	25	10	BIDDING	30	5
637	ON NH9(NH10) LHS BETWEEN VIDHYA DEVI JINDAL SCHOOL AND START OF HANSI BYPASS FROM HISSAR TO DELHI	HISAR	REGULAR	150	OPEN	сс	40	40	1600	25	10	BIDDING	30	5
638	ON HANSI BYEPASS RHS FROM HISSAR TO DELHI	HISAR	REGULAR	150	sc	CFS	50	50	2500	0	0	DRAW OF LOTS	0	3
639	ON HISSAR SIRSA ROAD NH9(NH10) LHS FROM HISAR TO SIRSA BETWEEN HISSAR AND AGROHA	HISAR	REGULAR	150	OBC	DC	40	40	1600	25	75	DRAW OF LOTS	15	4
640	IN/ WITHIN 2 KMS PF VILL : BADHWANA ON BHIWANI MAHENDRGARH ROAD NH148B	CHARKHI DADRI	REGULAR	115	sc	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
641	RANIA WML	SIRSA	REGULAR	150	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
642	VILL : BISALWAS ON DADRI LOHARU ROAD, NH 334B	BHIWANI	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
643	VILLAGE HETAMPURA ON BHIWANI - LOHARU ROAD, NH 709E	BHIWANI	REGULAR	150	OPEN CC 2	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
644	IN/ WITHIN 5 KMS FROM LOHANI BEHAL RD JUNCTION ON BHIWANI - LOHARU ROAD, NH 709E	BHIWANI	REGULAR	150	OBC CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
645	SIRSA WML - ON JANTA BHAWAN ROAD	SIRSA	REGULAR	150	SC CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
646	VILLAGE IMLOTA BETWEEN KM STONES 153-156 ON DELHI DADRI ROAD, NH 334B	CHARKHI DADRI	REGULAR	115	OPEN	DC	40	45	1800	25	60	DRAW OF LOTS	15	5
647	SIRSA WML - ON BEGU ROAD	SIRSA	REGULAR	150	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
648	Within 4kms from Loharu Junction of NH709E on NH 334B , loharu dadri road	BHIWANI	REGULAR	155	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4

649	BETWEEN TOHANA AND VILLAGE KANHERI ON TOHANA- HISAR ROAD	FATEHABAD	REGULAR	110	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
650	ON NH-9, LHS ON SIRSA TO MANDI DABWALI WITHIN KM STONE 65-75	SIRSA	REGULAR	115	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
651	IN /WITHIN 2KMS OF VILL LADHANPUR ON BHIWANI BYPASS, ON NH148B	CHARKHI DADRI	REGULAR	115	OPEN	DC	40	45	1800	25	60	DRAW OF LOTS	15	5
652	BETWEEN GHANTA GHAR TO NH148B BHIWANI BYPASS IN BHIWANI WML	BHIWANI	REGULAR	160	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
653	IN/ WITHIN 2 KMS OF VILL BHANGARH ON BHIWANI LOHARU ROAD	BHIWANI	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
654	IN OR AROUND 2 KM OF VILLAGE- DAULATPUR ON FATEHABAD TO HIZRAWAN KHURD ROAD	FATEHABAD	RURAL	90	OPEN	DC	40	36	1440	12	30	DRAW OF LOTS	5	4
655	VILL. BARODI ON JHANJ KHURD - BARODI ROAD	JIND	RURAL	75	OPEN	DC	40	36	1440	12	30	DRAW OF LOTS	5	4
656	Village Naurang on Ramasara to Naurang Road	SIRSA	RURAL	75	OBC	DC	40	36	1440	12	30	DRAW OF LOTS	5	3
657	VILL BIDHNOI ON KAIRU BEHAL ROAD	BHIWANI	RURAL	75	sc	CFS	40	36	1440	0	0	DRAW OF LOTS	0	2
658	FROM SURENDER SINGH CHOWK TO HERBAL PARK END ON MDR 108, TOSHAM BHIWANI ROAD	BHIWANI	RURAL	75	OPEN	DC	40	36	1440	12	30	DRAW OF LOTS	5	4
659	WITHIN VILLAGE DINOD ON LHS , DINOD TO TOSHAM ON DINOD TOSHAM ROAD.	BHIWANI	RURAL	75	OPEN	DC	40	36	1440	12	30	DRAW OF LOTS	5	4
660	WITHIN 5 KMS OF KHANAK ON KHANAK GARANPURA ROAD	BHIWANI	RURAL	75	OBC	DC	40	36	1440	12	30	DRAW OF LOTS	5	3
661	VILL KALIYANA ON DADRI JHOJHU ROAD	CHARKHI DADRI	RURAL	75	SC PH	CFS	40	36	1440	0	0	DRAW OF LOTS	0	2
662	VILLAGE CHAK ARRIYAN ON BHAMBOOR TO RANIA ROAD	SIRSA	RURAL	170	OPEN	DC	40	36	1440	12	30	DRAW OF LOTS	5	4
663	BETWEEN BEHAL TO JHUMPA ON MDR110	BHIWANI	RURAL	60	OPEN	DC	40	36	1440	12	30	DRAW OF LOTS	5	4
664	WITHIN 2 KM FROM RAJASTHAN BORDER ON MASITAWALI TO DHOLPALIA ROAD	SIRSA	RURAL	120	OBC	DC	40	36	1440	12	30	DRAW OF LOTS	5	3

665	VILLAGE JAMAL ON MDR 103	SIRSA	RURAL	70	OPEN	DC	40	36	1440	12	30	DRAW OF LOTS	5	4
666	VILLAGE MITHANPURA ON ELLANABAD ROAD, ELLANABAD	SIRSA	RURAL	70	sc	CFS	40	36	1440	0	0	DRAW OF LOTS	0	2
667	ON BETWEEN VILL DATA AND GURANA ON GURANA ROAD	HISAR	RURAL	70	OPEN	DC	40	36	1440	12	30	DRAW OF LOTS	5	4
668	BETWEEN VIILAGE KABREL AND NEOLI KALAN ON BAGLA ROAD	HISAR	RURAL	75	OBC	DC	40	36	1440	12	30	DRAW OF LOTS	5	3
669	IN /BETWEEN VILLAGE KHARAR AND NH-09 ON DHANIKUTUBPUR ROAD CONECTING NH-09	HISAR	RURAL	80	OPEN	DC	40	36	1440	12	30	DRAW OF LOTS	5	4
670	WITHIN KM STONE 70-72 ON MDR 108 AT RHS, VILLAGE BIRAN BHIWANI TO TOSHAM, ON BHIWANI TOSHAM ROAD	BHIWANI	RURAL	75	OBC PH	DC	40	36	1440	12	30	DRAW OF LOTS	5	3
671	VILLAGE MASUDPUR ON DATA ROAD	HISAR	RURAL	70	OPEN	DC	40	36	1440	12	30	DRAW OF LOTS	5	4

# Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

\* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is hosted in the Corporation Website (www.bharatpetroleum.in/<u>www.hindustanpetroleum.com/</u>www.iocl.com/ <u>www.petrolpumpdealerchayan.in</u>)